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Test Time 2:30 PM - 5:30 PM
Te st Date 04/12/2019
Subject 47 Physical Education
Comprehension:

Year —wizs produsien of thres types of vehiles

SubQuestion No : 1

Year — wize production of three types of vehicles
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4.4

The folloaring toble prazents the dara on rhe number of wehiclss of chree diffsrent tvpez 22 B
and (0 produred by £ enmipany during szven diffever s rears from 2072 40 2008, Based on the
datai= rke sable, amawer £52 suestiond 1- 5

Q1 T=e falloaing table precancs the data en the nmmher of vehizles of thres different types (4 B
wod O praduced by o vucapasy durisog seven Jilleevas sons Do 2012 10 2013, Busvd oo the
dialae ur Fhe Lable aoewerihe 1:||:n-r~:L:1:||1s I-:d:

Question Type
Question 10} :
Option 1 1D :
Option 2 1D ©
Option 3 1D ©
Option 4 10©

: Not Answered

Chosen Option ©

Status

MCQ
6154758132
61547531701
61547531702
61547531703
61547531704

Comprehension:
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Year —wize produziion of thres trpes of vehicles
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SubQuestion No : 2

Whezwraa the avercge pumber of B —tv3e vehicles produced bor the compony swer the years?

P A [(E ORI
ity A o
Options 1. 1
2.2
33
4.4
Question Type : MCQ
Question 10 6154758135
Option 1 1D : 61547531713
Option 2 1D : 61547531714
Option 3 1D : 61547531715
Option 4 1D : 61547531716
Status | Answered
Chozsen Option © 1
Comprehension:
The fellving toole prezents the dacs oo the aumber of vehicles of thres diffearent typez 0 13
and ) produced by g company durng saven diffevers rears from 2012 o 2003 Dased on the
dataizn che mable, amewer the cuesnons 1- 5
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SubQuestion No : 3
Q-S T vtk ol Lhae I'|:||-::wi||g AT was he il l:l'l1|:|lJI'| were ool Al ihes Lhires s nl
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Options 1. 1
2.2
33
4. 4
Fi
Question Type : MCQ
Question 1D 6154758136
Option 1 1D : 81547531717
Option 2 1D : 81547531718
Option 3 1D : 61547531719
Option 4 1D 61547531720
Status © Answered
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Chozen Option @ 4

Comprehension:

The fallvwring t2hle prazents the dara on tho nmbor of wehicles of cheee ditfforent tvpes (A, B
and (1 produced b oo any during 2aven differers vaara feom 20012 w0 2078 Hased an the
data in rha zahle, amswer the cuestionz 1- 5

Year —wize produzien of thes trpes of vehicles
W hir“'.-
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SubQuestion No : 4
Q4 The nmber 67 A 1rpe vohicles produeced in the weav 2004 wras what peroont e of the
anncher of Cotrpe vehicle: produced in the rear U016
il sl Y
% bR 4
Options 1. 1
LA
3.3
4.4
Question Type : MCQ
Question 1D : 6154758133
Option 1 1D 61547531705
Option 2 1D 615475331706
Option 3 1D 61547531707
Option 4 1D 61547531708
Status - Answered
Chosen Opticn | 2
Comprehension:

The follmaring t=hle prazenta the dara on rhe ramber of vehicles of three diffarent typez 74 B
and (2 produsad by = company during asven differer= vasrs from 2012 o 2005 Hased or he
detaiz the table, ansves the cuestonz 1- 5

Wenr —wizs peodusien of thees Lrpes ol velicles
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SubQuestion No : 5
Q.5 Lo how mmany vears was the production of A — tvpe velacles loss then 1t averses produccon
LR ] IR B S e ] _T:"J!- =
1% oy [ |
G My 1
Options 1. 1
fr 2.2
33
4.4

Question Typa | MCQ
Quaestion 10 : 6154758134
Option 1 10 : 61547531709
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Option 2 1D : 61547531710
Option 3 1D : 61547531711
Optien 4 10 : 61547531712
Status | Answered
Chosen Option © 2
Q& plawd Lisk Dwith Lisi- 10
Lis | List 1)
Digilad it (Turpase)
fx]  TIMANG {il O3 Hirvies
(b1 LI i Lewroingy plallocm
il oThr iy Tomblesd et R F e
ol SYAY AN vy mnele pemr of  awmcess o gl
dlverInEl. EHWEL‘BE.
Chpcsan Lhas enreeet nl_'ur:in:m ;
§15 AT e, e e
124 (ad=gaiiy, Ch7-(aL), G-t Sda-dn
B ) G Chy i G G G
)t -, fod-fa, 2 -Gu
Options 1. 1
23k
3.3
4.4
Question Type | MCQ
Question 1D : 6154758166
Option 1 1D : 61547531837
Option 2 10 : 61547531838
Option 3 1D : 61547531839
Option 4 10 : 61547531840
Status | Answered
Chosen Option © 3
L Which of the fallowing was not a Willenninm Developmicnt Goal (dT007
(1 Tradicale exlreme povarly sl bunger
2 lmprove waternal health
L] Ensure healthy bves and promote well being for all at all ages
{1 Ensure environmental sustainabilicy
Options 1. 1
2.2
33
4.4
Question Type | MCQ
Question 10 | 6154758141
Option 1 10 : 81547531737
Option 2 10 61547531738
Option 3 1D : 61547531739
Option 4 10 : 61547531740
Status : Answered
Chosen Option 2
h =
Q8 Whick piven of tha folloaring s212 of letteve when segmentially placed avthe paps in ths letter
gerics belavr ahall ecimplete i)
b b :ak chba i ]
(1 ackae 2y =cehbhh
i3k thhin 4 whbbe

153052



12/12 /2015

Options 1. 1
2.2
33
4.4
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Question Type

Question 10 :
Optien 1 1D :
Option 2,10 :
Option3 10 :
Option 4 10
L Answered

Status

Chogen Option

cMCQ

6154758138

61547531728
61547531730
61547531731
61547531732

3

Q.9 I wemar vatio st a wondar miy Teen wsriories of aupar maeth He ol e ke and Be T per ke

2o that by selling ke mixture at Bz 768 per kg the vendor gains 20857

[l F: | L2 Sl
24 h:8 4 Bl
Options 1. 1
2.2
33
4.4
Question Type | MCQ
Question 10 : 6154758138
Option 1 10 : 61547531725
Option 2 10 : 61547531726
Option 3 |0 81547531727
Option 4 10 : 81547531728
Status | Answered
Chosen Option © 2
Q10 \Whirh smong the followine iz NOT related to gualitative resanreh?
g £ q
i1y Thematic analysis
(3} ThHaeourse analvais Surevey moethod
Options 1. 1
2.2
33
4.4
Question Typs : MCQ
Question 10 : 6154758152
Option 1 10 : 61547531761
Option 2 10 : 61547531782
Option 3 10 : 61547531783
Option 4 10 : 61547531784
Status | Answered
Chosen Option @ 4
Q11 wheek o the fellnwane grrnpe haa the components of pavalangnage rommameatinm®
i1y Wilee, Euepliasis and Lupression
b} Soein]l Space, Voive und Inipreszion
bED) Walce, Huctal Bpace and Expresson
My Lrnpimers, Social Space s Voars
Opfions 1. 1
2.2
3:3
4.4
Question Type | MCQ
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Question 1D 6154758144
Option 1 1D : 61547531749
Option 2 10 : 61547531750
Option 3 1D : 61547531751
Option 4 10 61547531752
Status | Answered
Chosen Option © 2
Q.m Consider the 6 i“l:u‘-'in]: shatermends with referenee b e p:t-pnmil;:m “Buine H‘i e s mnl
sdents”
(51 Eubjeet term students bs dusmabuted
i Prasdicna b tevns goels s nodisteiboiedd
e Trafinate nevm studants is distrikined
tdi Zubject terin parls 1z anciistznoted
Chooue Uhe curreel oplive Do Chiose ives beluws
(1 Ondy (5l and (o) are sorrset
i Undy 1bland 1o) are corrcet
{H‘tl nul}-.lﬂ! and (Y sarecarres
] Only o) and 4d} are onrrens
Options 1. 1
2.2
33
4.4
Question Typa . MCQ
Question 10 : 6154758161
Option 1 10 : 61547531817
Option 2 10 : 61547531818
Option 3 10 : 61547531819
Option 4 10 61547531820
Status © Answered
Chosen Option 11
Q.13 ook . L : ; e o
Which among the lollowing 12 NOT & component of eflvetive leackinng?
i1 Gueslioning to eheck for the understanding of students
(§24] Trovidine studentes with feedback
] Heing flexible abour how long it takes o laarm
5 Heactive mode of stndent’s behaviour
Options 1. 1
2
3.3
4.4
Question Type | MCQ
Question 10 : 6154758150
Optien 1 10 : 61547531773
Option 2 1D : 61547531774
Option 3 10 : 61547531775
Option 4 1D 61547531776
- Status | Answered
) Chosen Opticn © 4
Q.14
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fiaries i,
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(1 oty (vl e
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13 ta} and i nnly
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Options 1. 1
2.2

3.3
4.4

Regsrding T gevernancs, wiish of the Sllnwing arstements 1o ¢ s anrrar?

fal Lreers patag transpacensy 13 o BT cnablid advantoge of L-Govoimancs,

iti Fawivermanee = relaled to themplemenialion of TOTan dhe goasremenl possses ard

el in gevidiog snd using B Governsoce rmlaied

Question Type

Status

- MCOQ
Question 10 :
Option 1 10
Option 2 10 :
Option 3 1D :
Option 4 10
» Answered
Chosen Option ©

6154758157

61547531801
61547531802
61547531803
61547531804

nec-traditienal wnaversities -

I} Toraenl ves mesLhol o L::||r-i\|r|g mrnil |!':m-r'|ir|5
ik} Inmavasive method of admizsen, crricubom avd sva uanom
iv! Modorn anrmumication tock mgues

iy Tearhort Fricndly snpeaachos:

St Ui onvreeel aprlisn

1 (b} ded ol dpenly
120 dmd ) s g culy
HH ek 4o and () cnly
1y 1), &b nnd idr ondr

Options 1. 1
o3
3.3
4.4

Q-H Sedect the alermabive Tealuas Poan the ey, which make npens aniversities as

Question Typs

Question 10
Option 1 10
Option 210 :
Option 310 :
Opticrs & 10
: Answered
Chosen Option :

Status

CMCQ

6154758156

61547531797
61547531736
61547531799
61547531800

Q.16
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4.4
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Question Typs

Question 10 :
Option 1 10
Option 210 :
Option 3 1D :
Opticn 4 10 :
» Answered

Status

CMCQ

6154756142

61547531741
61547531742
61547531743
61547531744

Chosen Option 2

Q17 Match corroctly the itoms of Column T with the itomes of column 11

Clolamn I Codumn T
{3)  Onralogy i1y Ideosraphic
(b FEpistamologr (11} Raaliem
{ep Methodelzy (i) Burvey
d)  Method vl Proeltivizm

Chosze the correct option

i1 {0, =G (-0, -0
2y tad-(i), (- io-( (di-iv
B (Al (b, (e, (d-(in
i) g -t fh-ivd, G-y, (=i}
Options 1. 1
2.2
33
4, 4

Question Type : MCQ
Question 10 : 6154758167
Option 1 10 ; 61547531841
Option 2 10 : 61547531842
Option 3 10 : 61547531843
Option 4 10 : 61547531844
Status | Answered
Chesen Option © 4

QI8 za0m theradventege of Devdbeck b Uhe proecss of gerupuieation, Do Gie Sollowing

i1y Lt is bepweferal to apdemstieade g ol (e duljoel watlor
(2 [ diagnoses The defects in receiver
(3; T elurifes e oo [Tt e T
1) I+ eealanes The cebaems 10 Teorver
Options 1. 1
2.2
3.3
H 4.4 153052
Question Type | MCQ
Question 1D 6154758168
Option 1 1D : 61547531845
Opticn 2 10 : 61547531846
Option 3 10 61547531847
Option 4 10 : 61547531848
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Status - Answered
Chosen Option © 4

QA% Whivh al the fmllawice sequense epresenls e eneeeel oeler of sail particles aeranzed in
Leer s ol p.':rl.irh' sive Prome Vhe s et ook Ia re:‘-‘"‘l."'

1y Cheawel Sl Cthay, Sl (21 Bl Clay, Goseel, Sand
13 Clue, Gui, Sand. Grovel 4 Bl Clay, Supd, Gousel
Options 1. 1
2.2
3:3
4. 4

Question Typa : MCQ
Question 1D | 6154758171
Option 1 10 : 61547531857
Option 2 10 : 61547531858
Option 3 10 : 61547531859
Option 4 10 : 61547531860
Status | Answered
Chosen Option @ 1

Q-m Al I._||:- |.'|,ri]uwi||h st bomders withy Hheie L|L:s=-::rip1 g s

S T T o Bud order Fab neludes wods lormesd o
woleanie ash

Hip o Ardisals dir #nil ardes of sold vegions irelnding
s-v::i:s i rrl'!rl?‘ ill E]'\ |'u':1'rJ'|n"r|1sI.

foy o daelizols ) Sl eeder conaistiog ol soils ol des
climatos

Ay Awidsols vl =oil crder commisting of acils with a

thivck nppere Lager o cegamio misilee,

s Lhe oo e I:||JL:I'|I'|_|.FI:|:|Ii Ui H]:‘Jl‘r. brea ey =

il {ad-treh bt fe-ra, (di-(nn
(] tad-Tii, R0, et (Al
b BEY SN R G M ES T R B
h [ag=fi, (h)-ri, do)-iw), )i

Opfions 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 1D 6154758165
Option 1 10 61547531833
Option 2 1D 61547531834
Option 3 1D : 81547531835
Option 4 1D : 61547531836
Status | Answered
Chosen Option | 2
Q21

fi 153052
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March the following values with thaiv distinguizhing funetiens

Lizt [ laztll
sl Aucrilive v wWerkiog s slpulaled wme
bl Binssmce (i Cenfinsment of individwsl mind en
anline
a1 Bal rentrnl At Bhewdng lavs sne affeerion
ol Almis dvl TTalping withaul sellish malives

hosze the eoivser optwen frons those giver halow ;

th LE RS RTINS LV T R A I T BT

1 o =i, (b geleian, ddi-qual

g, g e, il

i DR RN (I T VA L O M A T

Question Type | MCQ
Question 10 6154758169
Option 1 1D : 61547531849
Option 2 10 : 61547531850
Option 3 |0 : 61547531851
Option 4 10 61547531852
Status © Answered
Chosen Opticn © 2

Q22 {liven halow fve oo srataments - one = laheled 7z Aszzrmion (A1 emd the ather i Tahalad as

Lz (B

Aesariekion [.-'n.] 3 Crverenment o' Tewlin estoahlished |1:g|‘||‘.l- eebiestinnl slnjim nry hirwivss fos

smsurequaliby ol el

Tirsasnn (T - Thesr: ave some eavtaessbions D ieshitntioe s i Tochia whack o v peesdiile

o didy el tien
In the context of abovs twe statements, chooss the copvsss option

i3 Thenc b (A aoned (Tep e brue aned i Bs The coreee s explianstwn ol LAY
i Baork (A end (B3 ave tne bt (R i non the eoreer sxplanation of (4
G CAYs e b (T e T

i1 Az falae, haat (R 12 rmis

Options 1. 1

2.2

3.3
.4

Question Typs : MCQ
Question 10 : 6154758176
Cption 110 : 81547531877
Option 2 10 : 61547531878
Option 3 10 : 61547531879
i Option 4 10 61547531880
Status : Answered
Chesen Option @ 2

5305 2C

Q2 which amang the following 1z not the oateone of grounded theory regcarch?
(L Conuepls (2] Narrulive

[iEx] Culopopies (4 vpotheses
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Options 1. 1
2.2
3:3
4. 4
Question Type : MCQ
Question 1D 6154758154
Option 1 1D : 61547531769
Option 210 : 61547531790
Option 3 10 : 61547531791
Option 4 10 . 81547531792
Status | Answered
Chozen Option © 4
Q. Maten the Bpllowing historic places with their distinguishing disclpline of learning
LI List 11
Eistoriv pluies Diseipliae
fal  Takshila W Aslropmany
(k1 TTHjain 1) Thagdhism
iz} SHarnath W) Avt Architesture and Painting
(dl  Ajanta ar Medicine
Chiogst e corscet oplion fom ey siven Bclow
i1 Cat=Gih Y -(Iah. (k{00 {dp-0w
E20 () kB (e S dd)
a3 Cecb=faky, -iia ) feb-Ciny, (da-(1v
[E3] c-di . (B-(L, fed- (1), e i
Options 1. 1
2.2
33
4.4

Question Type | MCQ
Question 10 : 6154758164
Option 110 : 61547531829
Option 2 10 : 61547531830
Option 3 10 : 61547531831
Option 4 10 61547531832

Status | Answered

Chosen Option @ 4

il

i

[

i

Q25 \hich o¥the ollowringy skaternents 1z | are correct”

Zoltware = lowded aoke

tee CPUL

seeondury stomge Drom BARL und s (Ben cxveuled by

A soarch cmeine 313 5 softwarc systcml that is dosismcd to scarch for inforination on

e womn,

Chinse he oo rerd apleooe

) woly
i1 u:|1_l,
Beth ia) and b

Teither (a; nor
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Question Type : MCQ
Question |0 6154758158
Option 1 1D 61547531805
Oiption 2 1D 61547531806
Option 3 1D : 81547531807
Option 4 1D : 681547531808
Status | Answered
Chozen Option | 2
Q.26 Which cme of the follominy 13 sypmefed by Ldaharapa of Anum3oa (oferenced
Todisn Tasgis?
i Sratament of rrassn
(2 Proposition tobe proved
5 Cionluecn proved
14 Lniversa propoassion along with an instames
Options 1. 1
2.2
3:3
4.4
Question Type : MCQ
Question 10 | 6154758146
Option 1 10 : 61547531757
Option 2 10 : 61547531758
Option 3 1D : 61547531759
Option 4 10 : 61547531760
Status © Answered
Chosen Option @ 4
Q2T L sy Matenal Poarks aod WitdhB Sacearies wers Usrs o Indis (0] Maech 20007
(L3 Suaed 421 only 2 10 wod Tioeoly
] Taard 421 only (4 12 and 315 only
Opfions 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 10| 6154758145
Option 1 1D 81547531753
Option 2 1D : 61547531754
Option 3 1D : 81547531755
Option 4 10 : 61547531756
Status | Answered
Chosen Qption | 2
Q.28
i
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Choose fwy Datoes: thald 0T allvet toesowilowie peefarmos: of studenls sdversely

[z Lo gelf — efficacy oelizf

iy Heliafan Gad

¢y Indifferent artituds towards pelitics

tdy Teuchuer’s Tow expoctolion Teom alulcets
Chroze the eorrae apfom @

i1 faband (b omiy
(5 {aland (o) aniy
(3 e () enly
14 e and (3) vy

Options 1. 1
2.2
3:3
4.4

Question Type | MCQ
Question 10 : 6154758162
Option 1 10 : 615475316821
Option 2 1D 61547531822
Option 3 1D : 61547531823
Option 4 10 : 61547531824
Status | Answered
Chosen QOption 2

Q2% Whieh ol the Gillewing sialewen s see e ahoal o Dol vell?
) To ks uodeelie Whaon wees eloeliockoionl resciioze v produce eleeleit eurceul
il 1z conzists of & pogitive elscrrode and a mesative slectrade ssperatsd by an electrolirs

i Bl e Bl fesr s 00 necands do b vl wead D e cleet v careren
Chiesose Ul cosevesss opd oo Peaen Lhaose s e Do low

k] o] 3wl (only

i (b scadd o Guly

(3 {0 aac (o) only

idi ], ik s )

Options 1. 1
2.2
3:3
4, 4
Question Typa : MCQ
Question 1D : 6154758160
Option 1 10 ; 61547531813
Option 2 10 : 61547531814
Option 3 10 : 61547531815
Option 4 10 : 61547531816
Status | Answered
L Chosen QOption © 2

Q.30 Chutoul stk ol 0 sanlinie, Ve s weight ol 7ostudeies s 80 g TF e st bt ol e
17 wpmdemtoas 0 kg enes Chaes @b ssversme sweighloal allabe D0 sindenns e the sweight of
Pl 10t et wenlid B

1 clke ) 69k
i3 T ke, i€ Tlhez
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Options 1. 1
2.2
33
4.4
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Question Type

Question 10 :
Optien 1 1D :
Option 2,10 :
Option3 10 :
Option 4 10
L Answered

Status

Chogen Option

cMCQ

6154758140

61547531733
61547531734
61547531735
61547531736

3

Q.31 Devdorts is fat acd he doos not est during the day. Thesefore, Devadatta 13 cotins doying

e priMTL

Theahove example. i rlassical Tndian School of Togic, is 5 easaaf:

i1 Uomperizen # lmplicaticn
51 Furorplion 4 Worbal Tosliweny
Options 1.1
2.2
33
4.4
Question Type : MCQ
Question 10 6154758147
Option 1 10 : 61547531761
Option 2 1D 61547531762
Option 3 1D : 81547531763
Option 4 1D : 61547531764
Status | Answered
Chozen Option © 3
Q.32 Swraaes lbe slepy ol pesesreh in Ihe seyquenee i waich Lhey wee orecented Jnths theas
[Ly Digoussion, Teview of Literalure, Beeulte, Conesplasl Fonmework: TProulsim
2y Bweview ol Literalure, Deoblem, Concepiual Frawework, Desull, Discugsion
(3 Troblem, Teview ol Lileraluse, Conespiaad Dravework, Desully, Disesgaeon
RS Troblem, Tevew of Titerature, Donespraal Trawework, Tieants, THaw:azion
Options 1. 1
2.2
3:3
4, 4
Question Typa : MCQ
Question 1D : 6154758172
Option 1 1D : 61547531861
Opfion 2 1D : 61547531862
Option 3 10 : 81547531863
Option 4 10 : 61547531864
Status | Answered
Chosen Option © 3
Q.33
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Uiivewn beles are R st ents - o s Tabade] gs Asscrbon (A0 aod St ol s Bl bl s
Heason (L
Assoerlinng [A:- 5 A |.-!-.|_'.c 156 Do el secral maedie
nﬂil ST I;Tn’l 3\ 1"'”3 A ”i]'.'\.'.q illl‘}'llllf‘ in |':|::|r||rrllll‘;l:r Tes v in [Hl]"!lf: Hlliii"”::f'
Lnthe light of the chene tore stzterrents, chocse the coerss: option :
iy Theth AT and 4T e true amd T a8 Che cormoot expe anation ol (4
2F Dol %) o (T8 e bure woad (T 3o 200 Ve sopreot sxplonntizon ol (4
b 4 s trvie, but (B 12 falze
1y A s fales, T (R iz mme
Options 1. 1

2.2

33

4.4

Question Type

Option 2 1D
Option 3 1D

Statls

Question 10 :
Optieon 1 1D:
61547531870
615475316871
Option 4 1D ¢
- Answered
Chosen Option |

CMICQ

6154738174
61547531869

61547531872

1

i1y
]
Opfions 1. 1
2.2
3.3
4.4

Q3 Which cne of Lhe [ollowing propositions is 8 condes ey co “Adl poels are deeamers™?

Home poots are drcalnors 12y Home posts avoe not droamors

Mo posls nre dreamers (13 Mo drsamsrs are posls

Status
Chosen Option

Question Type |
Question 10 :
Option 1 10 :
Option 2 10
Optior 3 10
Opticn 4 10

- Answered

'3

MCQ
6154758149
61547531769
61547531770
61547531771
61547531772

oo
A
)

Options 1. 1

Q.35 (Given below cre owo statemrents - ome is labelad ge Assertion () and the otheris lakeled az
Lenson (B

Mozarwlien f"l.} Thirn FEh anane |.|"i|1'\-||ir|§ 1" |.l:||'§|: riethase al sbodenins van h-e‘.1r|||t‘;|1|. |::-3_-' Wy

ERT T R R IR Tz ||_-|-.

Thasasnr (T - Cronefane Leasing belpes stneents in deselopies critiea D think g moee than

Lo O b tonching con do,

‘nthe light of tha shove twa statemente choose the covert oprior

Tant e A eved iR o Levee il (T b Vhes coeveer e anndienn ol (40
Foc (A snd (Rpsee browe aned QR s ol Whe o caplans Hion el 340
(B S T PR LTI 5 R TR

LA s Tl bl (RS s denn
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2.2
3.3
4.4
Question Type : MCQ
Question 1D 6154758173
Option 1 1D 81547531865
Oiption 2 1D 61547531866
Option 3 1D 61547531867
Option 4 1D : 681547531868
Status ¢ Answered
Chosen Option © 3
Q36 i of G bwo plulements from (i Delluwebiiy slulomesn b urg gusprect?
{uh Suwphog  relaled verve @ subswoed veder the calogooy ez-aunpliog crroe
.11 Bamphng eever dosen’t comur 1 mulktt stage cluster sampling
iz Inpeowrote samwine frome snd non-responsc ave cxample: of sampling  velated
LT
o Thera iz an vrerze velatinm hatwaes natarngenaity of papulation and sampling emar.
TThissee e coroest oplion
ih talarah i 1:||-ﬂ_'(
]| 1a) and (doonly
LR At st by
4 iz and (o) ondy
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question |10 6154758163
Option 1 1D 61547531825
Option 2 1D 61547531826
Option 3 1D : 81547531827
Option 4 1D : 61547531828
Statis | Answered
Chosen Option © 2
Q37 dalecr the periad in which India hecame a centre of higher laarming.
(1} Cupla Poriod (21 Buddhba Poriod
(i Mughal Period (1) British Period
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question 10 6154758143
Option 1 10 61547531745
Option 2 |0 61547531746
Option 3 10 61547531747
Option 4 {0 61547531748
Status : Answered
Chogen Option @ 2
Q.38
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Chiven helow are bae stalemests - oee s Beocled as Assertine [.-'\.] sl L ebbier s Labacbed as

Humron (5.

Aasorrinn (A Skill dzveloproont isa oy feanume inodroey indivioms s ik
Tt sen §710 - .—'\_ll el afe b w b wan s o gl cmpe e, needs Lo posscss good adusatoan
anly.

It the cantest of £howe twn atatemeres, chonse The corress aprion @

1 Deoth (A0 od (B e tewe anc (T L 1k copweot caplunsticn ol ()

% Lith () and (1) ave fens bus il is not the eopzeet sxplanation of LA

i3 o0 2 Lewes b (B s Tudse
i (A)is falz2, but (k) 13 trae
Opfions 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 10 6154758175
Option 1 1D : 61547531873
Option 2 10 61547531874
Option 3 1D 61547531875
Option 4 {0 61547531876
Status : Answered
Chozen Option © 3

Q3% Which amang the fllowing facters dosan't cormeibuts tn aaaezamant haz?

iy Wlhsn Lizgusgre ol (e st and e legier 1 dilferent [oom the Jaususeszs of Qe
slanheils
a Amewers that suppert widdls —2lass valuss
3 o anzazament procedures ave flagible and diveese ta make disadvantaped stndents
cunn el
s Do i R s ah sk s el e stide g,
Options 1. 1
2.2
33
4.4
Question Type : MCQ
Question 10 : 6154758151
Option 1 10 : 61547531777
Option 2 10 : 615475331778
Option 3 1D : 61547531779
Oiption 4 |0 61547531780
Status : Answered
Chosen Option @ 2

QA0 select the apticn thet liats covponents far o avhersps e addvess ATHL) in o the coveeer nedar
Lo tewirec g Lo eoad?®

Option 2 10 :

(1 Trotveal, dewoan meaze of i lwes, polh Sl
4] Uezhi fils, pootoen], domait naans of the host
EH Frotimal, patk Male, docanin san ol B T,
155 Thearriain e o™ s hewsl peetoend et o7 File
Options 1. 1
2.2
3.3
4.4
Question Type | MCQ
Question 10 6154758170
Option 1 10 : 61547531853

615475331854
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Option 3 1D : 81547531855
Option 4 1D : 61547531856
Stats | Answered
Chosen Option ;2
o T O ANNE IO, O L= 0 R NI IR OV LW
solid oo T, 284 1o bave s preolil ol 30%2
(13 HE = TN
] 53 [EA R R
Options 1. 1
pLi
3.3
4.4
Question Type : MCQ
Question 10 | 6154758137
Option 1 1D 61547531721
Option 2 1D 61547531722
Option 3 1D 81547531723
Option 4 1D : 81547531724
Status | Answered
Chozen Option ; 2
Q42 [ Hueul deience:, s venirsl ious s e cuestai of whelber (e zocal world e be slodied
uming the wethods of natural soences, Thas statement vsfors to the 122me o
(2 Oatalaze my o Axielosy
G Fpistermloge (dy Tymalegy
Options 1. 1
2.2
3:3
4, 4
Question Type : MCQ
Question 10 | 6154758153
Optien 1 10 : 61547531785
Oplion 2 10 : 61547531788
Option 3 10 : 61547531787
Option 4 1D : 81547531788
Status | Answered
Chosen Option - 2

aver below:
ap B — seomeanis haclzennd of Teacher
fist) Tracher's 201l in plam g the aredents

L

i Teachor's auzjort Frowlodgn

nh Toschn’s peesons D eonbact with shebenls

Clhnnse Lhi: rzrerl apl I
ils dad, e s iy
e b i aed
(o onl by and i
Ay el brand di

Q.43 Telerrenify Pl Caetoes vt o nal conbeibaigs e Uhe oot ivonsss of Ix:mhi'ng Treon e wpd s

Question Type | MCQ
Question 10 : 8154758155
Option 110 : 61547531793
Option 210 : 61547531794
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Option 3 1D : 61547531795
Option &4 1D : 61547531796
Stats | Answered
Chosen Option @ 4
Qa4 a: per the elassizal squarve of oooosgon, of A poopesition 39 mven e tiue, then which one
cf the fllowriv e is soviecer?
{1y CET promosition ia falss, 7 prepesitinncis trme and S0 prapoation 8 falas
T2y SE propsition @ leae, T proposiben is beae cad ©O7 propesition e Lo
2R ST pengeitinm a Gabae T peapessibic s Talee aed 07 peapeilioe s Leee
bt 5] W pregesition fs Leae, T preopmsibenn ie Babee sl 507 povipices Lo s Bl
Options 1. 1
2:2
33
4.4
Question Type | MCQ
Question 10 : 6154758148
Option 1 10 : 61547531765
Option 2 10 : 61547531766
Option 3 10 : 61547531767
Option 4 1D . 61547531768
Status | Answered
Chosen Option © 2
QA5 tiren below 12 a question followed by three statements. ldentufy the statzments that are
necazgary to ansmer the quastion.
Crrestion : Whas is the porsents oo peefin gsined oy a vondse woon be acllz anartizlz?
Haalemonhs :
(s} Lle povaz o 0% descovnt on Uis macked proe
I:E:u',- The '.l\.'i:IIII'I lsrens snenind 258, |_:|n||'iR H ] P T | B z:l:.' il
] T st peive ol e aelne e is B OSG000
Cinwee L asrecol opl o Frorn Lhose given bobow
(L ek ang (ool
(4] dhpame (o omly
5 {zhand (o) only
(B4 &), (hrand i
Options 1. 1
Lo
3.3
4, 4
Question Type | MCQ
Question 1D : 6154758159
Optien 1 10 : 61547531809
Optien 2 10 : 61547531810
Option 3 1D . 61547531811
Option 4 10 ; 61547531812
Status | Answered
Chosen Option © 3
Comprehension:
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Head the following passase and anzwer guestions whick followr.

."."r!l'.'.]ll”]i‘l': ;-l’qlllllodll'ﬁ}f ..I:II ib‘ Laa it l':r |.EIH 1= :]il-'! IJJH'H'.H |.l:r|i'.'!l. I"' ]'.‘ serprlesrry FHirEry 1'.-’:-I']I!, it 'iN
not altopsther & well defined comespt A mmulirude of plobsl ntersetlons ave pos under the
broad heading of slobalizaticr. varying from the crpazsion of coltural end scczific
infhenccs aesozs boedcrs te the cnlorsomeont of cooiwanis and buwsincss rolatioss throaghout
i werld, Aowholusede rocetion of globulization woudd nol ooly we amacne iobul basiness; Qi
woubd alao pul wel mosveenls of idews, undesstandiog, wod koowledar thal cun belp sl Uhie
pecple of the woeld, mieluding che most dizadvrastaned wembers of the world populaticn, 4
comprehensivs repertion of olobalization can thus ke powertiily counterproductive. There s o
stromg modd to scporate gut the diferent gocstions that appoar merpcd fesetbor in tho
roctori: »f the onbixlobalsabion protcsts The slobalisation of Lnewledse descrves o
purlioalady higl poclile sevognibion, despile all The soed iomke (dwl e be pighlly seid
about the mportance of “Loes] kuowledoe”,

Clibwlienlion 1oollen seen, Yolh 1o jueennbebe disewssives wed e pesnekdily muny
IR B R PRI AN ":!\f wepeal F:.II':'HI. '\.'i{".\.' '::II-

‘h.

Tealazal, s el el s

e prienorenon foen dees il oes acom bebuliore ol Westae il b Lhe

SubQuestion No : 46
Q46 According ro the pasaagn, slobalization is perocived ofton by madia and academiia as
(1 supporring local knowledge systoms
£} Datrimencal 2o loce | mowledze sramams
B A process of Weatrrnigarion

EN A provess of Tacililatine global bussiness

not altcpsther 5 well defined comespt. A multrnude of plobsl intersetions sve oot under che
broad  heading of clebalizaticn: <gering from the cxpaszsios of oultural wnd sccontie
wfluenecs aemoss boedors te e cnlprsement of cocmemnis and hisinoss volatioss throughout
Ue werld, Jowaolusele receticn ol glosulizative wials nol cols we weacnel kool business, 1f
would alaw vul vol movemenls o Mews, wndessiandiog, ued Loveledee that cun help all (he
pecple of the world, meluding che moest dizadvamtaged members of the woarld populaticn, &
comprehensive recection of slobalizaticn can thus be powerbily counterproductive. Therezs 3
atronE notd to feparntc out the diffcrent guestioms that appoar oerged toscther In the
vactoris #f the sntizlobalsabion protests. The globalisation of unowledse descrmees o
purlculeely by peelile vecupnibion, despily wll (he swed Quoks (et oo byoaghlly sl
abour the mpertance of “Loesl wowledse”

Clelulisntion is oller seens Bolh in jeuroelisbe disewssives aod b pesckuily sy
wpedumie wilioes, us o pooecss of westerraeulive. Todeod, soue whe take wo upboul view of
e praenore non even dees 1w a0 o ettt o8 West s o s b o Uhes warrbd.

SubQuaestion No : 47
Q47 Apcording to the passagc, which one of the follewing iz not a well defined conenpt?
{1y Mulipeuliorslisim
(4] Tdrmrite
5] Cilshalization
4y Taral Krowlndge
Options 1. 1
2
3.3
4. 4

Options 1. 1
L
3.3
4, 4
Question Type : MCQ
Question 1D | 6154758180
Option 1 1D : 61547531889
Optien 2 10 : 61547531890
Option 3 10 : 61547531891
Option 4 10 : 61547531892
Status | Answered
Chosen Option © 3
Comprehension:
Iead the folleswing paesage and answer questioss whickh fellowr.
Foeriinogh wlolaloarsnn s o ol (ke o d ianssed opies i Sha vonbempoaneys weorld) o s

Question Type

MCQ
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Question 1D
Option 1 10

Status
Chosen Option

Optien 210 :
Optien 3 1D :
Option 4 10

. 6154758178
61547531881
61547531882
61547531883
61547531884
L Answered
13

Comprehension:
Foad Uhie follerecing posengy aid oewer guosiioes Sliek Tolluw.,

Frarchough glohalizssinn is ane of the et dzcnssed mpics in che comtemporary world, i 15
mat adtcgsther o well defined comecpt. A woultrede of slobol torsetions axe ps undey fhe
broad bewding of slolndisutien, wueviog feow the cxpezsion of olluenl wnd secnidie
i lamesnoes: g e Tl ||'|un'|;¢ Prvornnia sk b refobinze theouxh ool
el A Alrsale reechonal wlobadlis
'|'.'I..‘|J.I1i ﬂ]lill

ek ld ol Galy go amsinsl o] Business il
e resri e |:‘~E-";‘F.Hﬁ. LII!I]H-THI-iIni!;rIg. Hrli] krli:w]mi&"rﬁ Ilhﬂl fidn .I'Iﬂllll HTI I.Em
pecpls of the wopld, deluding the wost disadrassosed wembers of the world population.
eopreliensive roes b of  lubeisalivn con s b pesorluly evanlerpredueiiye, Thore s s
wipbe eed e deouenle gut e differenl guestives chul appear seesed logeiber [odie
el ol he o sollabe salion proeesis The phibalisatins of rimdledge deseroes s
pavbiculady high poelile secognilion, despile all the good Dirgs hatl crncbeorighily gewd

about the importance of “Loenl mnowlodse”

Clolmlisaivn is olten seen, Blh in joernalische dherussinng ol im0 eewsrksldy msny
arademin writings, 57 A pacers of westermazatinn., Tndesd, same whe take an nphaat wisw of
the prensransn puen sear it 26 a rontdbution of Wasren ailization oo the warld,

SubQuestion No : 48

QA8 As prr the passagn, a whalezaln searesiom of globa lization wonld weanle in atfeeting

fa) Gloaal businesses
[t Movement o Llaes
[ Local knowledge svatoms

Chose the corracl answer Teom the oplions given balow ©
(1 {u) and by only
2 iat and 1ol onlv
(% {e3 and ihy onlw

(4 qa), by oand (@)

Options 1. 1
2.2
3:3
4. 4
Question Type | MCQ
Question 10 : 6154758182
Option 1 10 : 61547531897
Option 2 10 | 615475316898
Option 3 1D : 61547531899
Option 4 10 : 61547531900
Status | Answered
Chosen Option @ 1
Comprehension:
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Head the following passase and anzwer guestions whick followr.

."."r!l'.'.]ll”],ﬂ:‘l': ;-l’qlllllodll"q}f. (2N} ib‘ Laa it l':r |.EIH 1= :]il-'! IJJH'H'.H |.l:r|i'.'!l. I"' ]'.‘ !(?rl!.flrlFl-':I'Hl'_l;' 1'.-’:-I']I!, it 'iN
not altopsther & well defined comespt A mmulirude of plobsl ntersetlons ave pos under the
broad heading of slobalizaticr. varying from the crpazsion of coltural end scczific
infhenccs aesozs boedcrs te the cnlorsomeont of cooiwanis and buwsincss rolatioss throaghout
i werld, Aowholusede rocetion of globulization woudd nol ooly we amacne iobul basiness; Qi
woubd alao pul wel mosveenls of idews, undesstandiog, wod koowledar thal cun belp sl Uhie
pecple of the woeld, mieluding che most dizadvrastaned wembers of the world populaticn, 4
comprehensivs repertion of olobalization can thus ke powertiily counterproductive. There s o
stromg modd to scporate gut the diferent gocstions that appoar merpcd fesetbor in tho
roctori: »f the onbixlobalsabion protcsts The slobalisation of Lnewledse descrves o
purlioalady higl poclile sevognibion, despile all The soed iomke (dwl e be pighlly seid
about the mportance of “Loes] kuowledoe”,

Glilndesulicn 1 ollen seen, Yolh io jewenebisbe dbsewssions sed oo rosockly  meoy
IR B R PRI AN ":!\f wepeal Tr:llli'::" SRR RE T F:.II':'HI. '\.'i{".\.' '::II-

‘h.

iy bl a

e prienorenon foen dees il oes acom bebuliore ol Westae il b Lhe

SubQuestion No : 49

Aovmeding e the pos=age which one ol the lollowing s counter productive?
(h Clamprahensiee supporl to globalisalion

(23 Wholeaale vejection of @lehalization

] Clomprehenzive rejectinn of antl — ginha hzation profests

(0 Lecoguition of loval kuowledpe sysiems

Options 1. 1
2.2
3.3
4.4

Question Type
Question 10
Option 1 1D
Option 2 1D
Optien 3 1D
Optien 4 10 :

L Answered

T2

Status

Chosen Option

MCQ

6154758179
. 61547531885
: 61547531886

61547531887
61547531888

Q.50

Comprehension:

Head the fellowing passage and anzwer question: whick followr.

Fuenilngh wlolaloes Gon s ane of thie vl disrnssed opiesin the ronlemporsary weorld, 0 s
oot altcgother o well defined comecpt. Ao mouliviude of globel mternetions sz oo upder che
brond heading of clebalizabien. vorying from the cxpassion of cultweal nnd socztife
Lellusneys weowss burder: Lo Loe calursei s ol coozoinie wed business roselivss aougboul
thi werbd, &owloluasle roicelicn of globulisativn wosld et oy wo amednsl ©iobid basiness, i
‘.\.":IJ'II] H.I."‘I:I £ wive el Iir .'EH?‘!.‘. I.II'IIII"._NE ﬂ1|ii1‘ LU illll] kfi(]h‘]ﬂ(;ﬂ!‘ I.}Iill £ }I"]I] rd.” |]IH
pecple of the world, mieluding the moest dizadvansased members of the world population. &
comprchensive reertion of shobelizaticn can thus be powertilly eouatcyproductive. There 2s 2
atronE nend toofeparote gut the diffcrent gocstions thot apposr owerged fosother in the
t 1ol e wpobelobelmabicn prolests. The slobelisatiose of Laooveledse dosesees w
Teoely higls el wesagenibicon, dvapatas wll he gaad i
about the Impertance of “Local owledse™

ik el

thal g b rig‘hl.].,- s e

Globulpsnbion i oller seew Both 1o jeuwroebisbe disewssioes wod o peswrckubly  weny

srmderiie wrahings meow pencess of weslerslion, Teadesi], sinne who take an npheal visw of

e prienorendn even dees 10 o com bbb ol Westperiesa T tbaon bo Lhe warbd.

SubQuestion No : 50

The atlempl of the aullior in the passare 1s

i1y Unconditioned advocacy of globalization

{2y Unconditioned rejection of slobalisalion

(h TIneonditionad rejection of local knowledge avetems

(4) Unhiased evaluation of globalization

Options 1. 1
2::2

5305 2C
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3.3
4.4

Question Type . MCQ
Question 10 6154758181
Option 1 10 : 61547531893
Option 2 1D : 61547531894
Option 3 10 1 61547531895
Option & 1D 61547531896

Status | Answered

Chosen Option - 4

Sachon PART IPhysical Education

Q.1
Q Which of U Gollowing guestzporks sre ineleded ws nigh peiorily spozss o the lasel
tbempin pridin e rohisme?
[1Th} Ay
fiay) Boxing
@ Athleticz
i Heoakey
e} Uympasties
Chnose the correct optioss from the telow given codes
L Tk (b wnd ()
(2 (o} (o} and (o
3] [b5, g, (d) mud ek
5] in} () and (ch
Options 1. 1
2.2
33
4.4

Question Type | MCQ
Question 10 | 6154758257
Option 1 1D : 81547532197
Option 2 10 B1547532198
Optiors 3 |0 : 61547532199
Option 4 10 1 61547532200
Status | Answered
Chosen Option © 3

Q'z Far s rirlg whish ol e I‘rl"ﬂw{rlﬁ' Tearadinres ﬂn::g:m Wiior Fitneses Test was caiahl iabied®

(ap To deterning phyzical tiiness statue ae per prade levsl.

(i ldoomibention of those below standard 0 58 to stozt progreanme for mporvement of
atness,

] Tu udvioe yvourgsions To el apers.

341 To molivale voungslers,

Chiose corrmsh spiinns s oodes gives below

(b G (b and ()
B = Sed e 5305 2C
G tah i snd i) =

i (e and id)

Opfions 1. 1
2::2
3.3
4.4
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Question Typa . MCQ
Question 10 : 6154758243
Option 1 10 : 61547532141
Option 2 1D : 61547532142
Option 3 1D : 61547532143
Option 4 10 : B1547532144
Status : Answered
Chosen Option © 2
Q3 - 4 ey ;
aven below sy two statemonts, one 13 Asscriion Dy and the other Heazan (L),
Aspaesrlicon @A) CarrrwsTui i mel anly Che conlenl selechion and delivering, ate s a Teld af
knowledpe, which 1z differess tooan svllabos.
Beacon {183 The eviabus 1 the content of the propramme or unit, toplcs. leeuss or
subjent that will be eovered as &2 procecds and docs not 2nelude pedasgogy.
In the light of above chaoze the correct option from the below given codes ¢
13 Beth (A0 and (I aaw trwe sod (U0 13 the covmect explanation of (40
(2] Farth (A arad (R aire brioe bl §R) 55 et Uhessorresit ssplanaiion ol (4
(B (A2 trae, but (D= falze
t4) e falee, but i is true
Options 1. 1
2.2
3.3
&4
Question Type | MCQ
Question 10 : 6154758271
Option 1 10 : 61547532253
Option 2 10 : 61547532254
Option: 3 10 61547532255
Option 4 10 61547532256
Status | Answered
Chesen Option @ 1
Q4 ; i 1 ; ;
Al which stawe, the achisveinenl molivalivn s aguired by childeen?
8] Pubcsuwmes: 2y Saduluscnue
[EH Infaney 4 Lormative stage of sociod devclopment
Options 1. 1
2:2
3.3
4. 4
Question Type | MCQ
Question 10 6154758185
Option 1 1D : 61547531949
Option 2 1D 1 61547531950
Option 3 1D 61547531951
Option 4 1D 61547531952
Status © Answered
Chosen Option © 2
Q.5

5305 2C
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The width of the lane in Bhuttle run test 1tem of JUH test 1s

Which of e fllowing s the socroel seauemce of Cnueizalion vaeiocs given  loow oiild
wlbee 13 hirth?

(1) 3 feet 2] Afeet
(M) 5 feet (4} Gfeet
Options 1. 1
2.3
33
4.4
Question Type | MCQ
Question 1D 6154758218
Option 1 1D 61547532041
Option 2 1D 61547532042
Option 3 1D 61547532043
Option 4 10 61547532044
Status  Answered
Chosen Option @ 2
i o Identify the meodalitics which eomes under cryotherepy
(a) Micro-vrave diathermy
(6)  Cold whirlgool bath
s} Short wave diathermy
(d) Ultra sound
(=) Sprav coolant
Choosze correct cptiorns from the codes given below :
(1)  (ajand(d) {2} (b)and (e)
(2) () and (e (1} {2and(d)
Options 1. 1
2.2
3.3
4.4
Question Type | MCQ
Question 1D | 6154758223
Option 1 1D : 61547532061
Option 7 1D : 61547532062
Option 3 1D : 61547532063
Option 4 10 : 61547532064
Status | Answered
Chosen Option 2
Q7

£y Meaglae, BOG. TTT 50OV M ROC. Meastar, OVE TLITT 3
(3 OVT T, Mraglas, IT'T 3 RO i R TTT A, Weasles, OVE T
Options 1. 1
& X2
3.2
4.4
Question Type
Question 10
Option 1 10

Option 2 10

CMCQ

6154758263
61547532221
61547532222

5305 2C
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Option 3 1D : 61547532223
Option 4 1D 61547532224
Stats | Answered
Chosen Option ;2
Q48 Graven boluee ses Lwvs stalemenly ang s Aesortion G and L olher 13 Bouson (B
Asserbon (A Ineetive bfe stvle alons with uncommrolled dict may lead to many health
maranis nat anly far nld age but alss for youmzer generatiom
Joason (14 : 1t cne can maintain A3 pheacal fimess, 1 docs not motrce what dist he or
sha ntaking
Tn the Iight of ahoavie twn sratements choose the cdrreet nption fromn the codes ziven below
i Farlh {A) sand fﬂ‘.} v rns arnd R 2 eoeree b spla e linn a4
(™ Babk (A and (R see dee bl (R) s nol ooemsel esopbana o ol (A)
{h {A) 1z true bt (1) 1a falac
] (A in Talee bual (R Bs @ s
Optons 1. 1
plirs
3.3
4.4
Question Type : MCQ
Question |10 6154758185
Option 1 1D : 61547531209
Option 2 1D 61547531910
Option 3 1D : 61547531911
Option 4 1D : 81547531912
Status | Answered
Chozen Option @ 3
Q9 . . : .
Givecn bolow arc two stato ments wne 15 Asscrtion (24 and sesond s Beraens (1) for 4,
Aggortwn (4 o oovsatve skewoess wd cke wackefaeoees mereases ke Droguoney
dacrr vese.
Lieazons (10) I neeative shewneas the bost 13 too casy tor the talozs,
T the camtexlail Blis aliove skalemend which une of Uhe Tesllovws imig 3 L 2
il Licth (A) and {11} axe crus and () e the correct explanation of (4)
[ Licth (A7 amd (1) arc true oot (1845 not the corroes cxplanetion of (A
[y LA} 13 true, but (18 38 falsc
(4 s Dulee Dut By bs leue
Options 1. 1
pLfir
3.3
4.4
Question Type : MCQ
Question 1D | 6154758268
Option 1 10 61547532241
Oiption 2 1D 61547532242
Option 3 1D : 61547532243
Option 4 1D : 61547532244
Status | Answered
Chosen Opticn | 2
Q.10 . nsaa g .
Bodurwam: perfipanee el eh aliztude over 23000 15 soviercly slfceled due o
(1] deervoee of perecaluse ol oxveen o Che aie wl b olUilode
=) decreass of partial ressurs of oxyzen with increaee of albitude
(8 e e of huromeleie prossaee with inereose of oilidade

(EN decreaze of pulmonary ventilation

5305 2C
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Question Type

Question 10 :
Optien 1 1D :
Option 2,10 :
: 61547531931
Option 4 10
. Answered
i g

Cption 3 10

Status
Chosen Option

cMCQ

6154758190
61547531925
61547531930

61547531932

i

{0

{eh
=1

Tdrn T

Acelimatizarion

Flarnins Lusis

Electmoardiogram

Lloetmrnnasran

Qi1 Iluwiehs the following worms with Uieie eurercs ponding deseriplons

Tien 1T

Resording of alector] actisizy of tha

cardiae cyele

Recorting e dlectrical  activily of

skcloctal sl

Adaplive response of high =Tilods

The dynooie eonstomer of mbernal

BNVITITMENT,

Clhinass s moresct il ks femrs I:|'u-'._'p"rv1-r| bl eades -

Chosen Option :

(A v g A, () )
G el b, e il fd) )
B fad-{iv), fhp-tih G901, (1)
Gl -G 0 (i)
Options 1. 1
2.2
33
4.4
Question Type | MCQ
Question 10 | 6154758249
Option 1 10 : 61547532165
Option 2 10 : 61547532166
Optior: 3 10 61547532167
Option 4 10 G1547532168
Status | Answered
Chosen Option @ 2
Q.12
World Hepatitis day is celehrated on
(L) 28 July 2y 15duly
(3 28 June {4y 15 Jumne
Options 1. 1
2.2
33
4.4
Question Typa : MCQ
Question 10 : 6154758204
Option 1 10 : 61547531985
Option 2 10 : 61547331966
Option 3 1D : 61547531987
Option 4 10 61547531968
Status : Answered

2

5305 2C
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Q13 ; . — ; p—
‘W hich onc of the llowing in the corroet sequcntial oxder of the stages of creative thinkings?
[a) Preparatien
) Tuocuhalion
feh Tiarnirsstinn
Wl Eunhuniion
&0 levicion
Chocae the corvect seguencs from the following |
1t Preparation, Ulumanetion, Bvaluation, lncubation, Hevscn
i} Insubaton, Proparation. Evaluption, Hlurination, Hevision
] Hluminedion, Kevision, freprenion, Inoubntion Evafuntion,
i1 Treparatinn, Tnenhatizn, Thimination, Fyatuation, Ravisicn
Opfions 1. 1
2.2
33
4.4
Question Type | MCQ
Question 10 : 6154758261
Option 1 10 : 61547532213
Option 2 10 : 61547532214
Option 3 1D : 61547532215
Oiption 4 |0 61547532216
Status : Answered
Chosen Option @ 2
Q.14
Which Lwe of the [llowing see oporwot oo delormioing G leuinieg sod peelurmsimse
soals?
{ech Craed ahould be cemly approachabls nnd wsehellsnsing.
by Crond should ba atfainable.
ek trond shonld be realisfie.
dy Goal ahanld ke mueh herond the capsaity.
Zmonse the correct options from the codes given bobowr -
{1 (b and {r
[ (4} Arnl 117
3] hrard LY
e and ol
Options 1. 1
2.2
3.3
4.4
Question Type | MCQ
Question 10 : 6154758237
Option 1 1D 61547532117
Option 2 10 61547532118
Option 3 10 : 61547532119
Option 4 1D 61547532120
Status @ Answered
& Chosen Option ;1
Q13 Fallowing Tong tevm andurance rraining the pesting heart vate drorsasss cnnsidarakly.
Terchiniealiv, this decremenl g called
i1y Training bradicardis 121 Tachveandia
i3 Arhletic hesrt (4 Cardisc hypeetrophy
Options 1, 1

5305 2C
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Question Type

Question 10 :
Option 1 10
Option 2 1D :
Option 3 10
Option &4 1D :
- Answered
e |

Status
Chosen Option

CMICQ

6154758189

61547531925
61547531926
61547531927
61547531928

al]
w

Pre-cnptrinenlul design
Trme exparimantal dasign
(:asl szperirnencal desipn
Ex-posi-facto dealgn

Q.16 Tiesipm uaed in auperirental resaireh in which gvoaps are wandomly femed and that
canrrals mnetemarees nfinvelidity ia womoan

Question Typa

Question 10
Option 1 10
Option 210 :
Option 3 10 :
Option 4 10
- Answered
Chosen Option :

Status

CMCQ

6154758212

61547532017
61547532018
61547532019
G1547532020

Q.17

G
kb
fe}
(dy

1y
el
o]

(4

Options 1. 1
2.3
33
4.4

BPEd ur L-._qu'll.-hhﬁr:L i Lh ze el B0 marrks.
BBt Health and Physival Edusarios wich 50% marie.
LP B3 wrth Sk mares,

B P Ed or cgmvalens with etloast 467% minrlea.

Chupwse th voereel v foos Drom U followine;

fa) wnnd (e unly
G mndd (db enly
(aland (h anly

(bl (2} and (g

Awocording to NUTE 2(14 notifiention which of the fellowings ore the oligikbality for admission

m P, Ed. 2 wear eourac?

Question Type

Status
Chosen Option

C MO
Question 10 :
Optien 1 10 :
Optien 2,10 :
Option 3 10
Option 4 10
L Answered
(1

6154758233

61547532101
61547532102
61547532103
61547532104

5305 2C
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18
? ‘Which of the following are corrct?
{a) Bending of head 1= second class lever
() Haising of body on the toes is third class lever
(e} Flesion of elbow i third clazs laver
{d) Extension of elbow is first class lever
Chonse the correct options From the following
(1)  (2). (0) and (e)
(2) (a). (b) and (d)
(3) (b). {£) and (d)
{4) (e} and (d) only
Options 1. 1
20k
3.3
4, 4
Question Typa : MCQ
Question 1D : 6154758230
Optien 1 1D : 61547532089
Option 2 10 : 61547532090
Optien 3 1D : 61547532091
Option 4 10 : 61547532092
Status | Answered
Chosen Option © 3
Q19 ;
Vital capacity of normal male adult rangcs from
(1) Ito2 liters (2)  3to5lters
() 5 to G Liters (4 6tof liters
Options 1. 1
i
33
4. 4
Question Type | MCQ
Question 10 6154758215
Option 1 1D 61547532029
Optien 2 1D : 61547532030
Option 3 1D 61547532031
Option 4 10 61547532032
Status © Answered
Chosen Option = 3
Q.20

5305 2C



12/12/20189 rttps:fredn. digialm. comy perfg2e fouby 2083 tou chetonefascesoment QFH TMLMooe 1) 20830152 56/ 08301525656, ..
Which of the fallownmg are tha steps in perfirming snalvaiz of vamancs?
[ES Tatermine an sstimats of popelation variance from within samnles.
i Delermicn wn eslimule the pepuluion varireee Croom g e sumple mean,
[ Diotormine the difference boteroon cxpectod and ebacrred froqueney for cach elaszs
dr The population i= apsumed to bave unequal vrtance.
Chocee the correct cption Srors the followiny -
(T {apand (b aniy
[l S aand (G ardy
@ e und )
4 ot and {(d) ondy
Options 1. 1
22
3:3
4.4
Question Type | MCQ
Question 1D : 6154758240
Option 1 1D : 61547532129
Option 2 1D : 61547532130
Option 3 1D 61547532131
Option 4 10 : 61547532132
Status | Answered
Chosen Option 2
Q.21 . S .
Which of the following iz the coerect seaynence of different partz of an abetracs Jor a researeh
priaper Trom b oo 1o the =nd '
L3N] Okjectives, Methede, Bagulte, Comeluzicn
2 Mcthods, ©hjcctives, Conelazion, Hesalts
(& Ohjectives, Meotheds, Conclazion, Besults
id Dibgerdives, Reaclis Welals, Oociclosio
Options 1. 1
2.2
3:3
4.4
Question Type : MCQ
Question 10 | 6154758265
Option 1 10 ; 61547532225
Option 2 10 : 61547532230
Option 3 10 : 61547532231
Option 4 10 : 615475332232
Status | Answered
Chosen Option 1 1
Q.22
Lyl

5305 2C
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Match the following therapsutic medalities with correspending procedures :
Ligt-1 Last-1
ta} Cryotherapy il TENS
b}  Perabralive Lhermolhseapy [i;_) Wan bain
(1 Superficial thermsthorapy (i) Whirl poal bath
id} Dlsctrotherapy i) Ultrascund
Chonze the porrect oprion from those given below:
i1 (-3, (h)-0%), (-0, (-G
(2 (an-iih (o) (eb-tivd, (i)
G i ) v (e 4. () 6
(47 dap(id, (-(i). (-G (-0
Options 1. 1
2.2
3.3
4. 4
Question Type : MCQ
Question 10 1 6154758227
Option 1 10 : 61547532077
Option 2 1D : 81547532078
Option 3 |D : 61547532079
Option 4 1D 61547532080
Status : Answered
Chosen Option - 4
Q.23 . — : . .
Wiueh ol the foflowing &= o eorreet soquonee of weeendiog chromdogis] veder wilk resgeet o
Uhie vesr of developeel of he ol Gnol bady Lepes
1 Shaldon, Kreteclhmer, [lppocratzs. lleath — Carter Somate pee
121 Healh  Carier Somads (vpos, Hippoerules, Sheldon, Krelsgheer
] Foeiechrne, Alwlion, Festh — Caorler S b Ly e Foppossn ey
11 Llppoerares. Kyetechoier, Sheldon, Lleath — Cartsr Somste trpes
Options 1. 1
2.2
3:3
4.4
Question Type | MCQ
Question 10 6154758258
Option 1 1D : 61547532201
Option 2 1D : 61547532202
Option 3 10 ; 61547532203
Option 4 10 : 61547532204
Status | Answered
Chosen Option © 4
Q.24

5305 2C
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Wik of the following see e gaychologion] whbilibes imperbunt Tor taetieal developiomes D
{=d  Hpenial vabtionzl abilitize
ihi special intellectual abilites
i) Spoeinl uggrusive abililics
iy Sperivl pereeplion ubilitics
Chonse the corpect eption Som the codos grven bolow :
1y ibhoiciand (d)
il ich and [di
(&) (). (o) aad {4
() fa. 1) and [c)
Options 1.1
2.2
33
4.4
Question Type | MCQ
Question 10 : 6154758232
Option 1 10 : 61547532007
Option 2 10 : 61547532098
Option 3 10 : 81547532099
Option 4 10 81547532100
Status | Answered
Chosen Option 11
Q.25
Cif the following which arve not banned by World Anti Doping Apency (WADA)?
(] MNemames minda
7] Crowth hormone
() Crentine
iy Tryibropoietin
Chuose the correct options from the code mven below:
(1) {a)and (b} 12 (a) and i)
(3 th)ond (d] (4 () and (d)
Opfions 1. 1
2.2
33
4.4
Question Type : MCQ
Question 10 : 6154758196
Opticn 1 10 : 81547531953
Option 2 |0 : 81547531954
Option 3 1D : 61547531955
Option 4 10 : 61547531956
Status | Answered
Chosen Option 0 2
Ly Q.26

5305 2C
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Of the following diseases which cne is a genetic disorder
(1) Eheumatic Arthritis
(%) | eprosy
{3 Haemophiha
(4)  AIDS
Options 1. 1
pLatirs
3:3
4.4
Question Type : MCQ
Question 10 | 6154758205
Option 1 1D : 81547531989
Option 2 1D | 61547531990
Option 3 1D 61547531991
Option 4 1D 61547531992
Status | Answered
Chosen Option @ 3
Q27 : e i ; ;
Whuch of the following 1= nol Lhe prineiple of curriculum design®
()  Preadth (% Tepth
() Coherence (4} Cooperation
Options 1. 1
22
3.3
4. 4
Question Type | MCQ
Question 10 6154758202
Option 1 1D 61547531977
Option 2 10 : 61547531978
Option 3 1D 61547531979
Option 4 |0 61547531980
Status © Answered
Chosen Option = 3
Q.28
Wisiish of 1has fllowing da the corseet seguence ol lgaeenis Drome top i Bel b Dond in
huzan body?
in Transverse Inaneral, Cormscrimisl, Inferor ylenchamersl. Ansular Tigament
21 Traneverse humersl. Inferice slenchumeral, Covscoacromial, Ansular dpament
1 Coracoasramicl, Transverse humecred. Inferior slencoameral fnculer Agpment
) Cormuaarrn sl Trdesior g‘l':.‘l'l:i?llln'l‘.—fl’»]., Transverss harmeml. .-!\.'ll:luh.':igmimrllk
Opfions 1. 1
2::2
3.3
4.4
Question Type | MCQ
M Question 10 : 6154758260
Option 1 10 : 61547532209
Cption 2 10 61547532210
Options 3 10 61547532211
Option 4 10 : 61547532212
Status | Answered
Chosen Option © 3

5305 2C
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Q.29

(1)
(2)
(3)
(4

Options 1. 1
2.2
3:3
4.4

Epine flexion and extension are done on

saggittal axis and frontal plane
vorons] axis and saggilial plane
horizental axis and vertical plane

transverse axis and coronal plane

Question Type : MCQ
Question 1D | 6154758153
Option 11D : 61547531941
Option 2 1D : 61547531942
Optien 3 1D : 61547531943
Option 4 10 : 61547531944
Status | Answered
Chozen Option © 3

(1}
=1
i1
5]
Options 1. 1
2

3:3
4.4

Q.30 Bloon Erodbowohi snd sssocinlos sumoiseized Uee gbjeetives of Sporl Pavcholeey ne

cognitive, affactive and pevchomotor
hxzenic adusative, reereative and remadial
phyvaiend O, meniod health und officicoey, sociul wod mored clucse lor

nsalth, mwental , newrcruscular and soczal

Question Type | MCQ
Question 10 6154758184
Option 1 1D : 61547531905
Option 2 1D : 61547531906
Opftion 3 1D : 61547531907
Option 4 10 . 61547531908
Status | Answered
Chosen Option 2

Q.31

(1)
(3)

.

Options 1. 1
2.2
3:3
4.4

Which one cof the following 15 an innate tendency?

emniion (P ansbinet

foeling {40  sentiment

Question Type : MCQ
Question 1D : 6154758198
Option 1 10 : 61547531961
Optien 2 10 : 61547531962
Option 3 10 : §1547531963
Option 4 10 : 61547531964

5305 2C
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Status | Answered
Chozen Option © 2

Q32

(g
i3]
fch

i

(1}
e
(3}
)

Options 1. 1
2::2
33
4.4

Dizzolved minerals
Aoricaltaral pollutants
Suspended impurites
Industrial and trade wastes

Checsz the correct options frem these given below :

(a and (b
() wrd [ad)
(o) and (o)

(b and (d)

OF e Mollowing. which srs comscdersl aa cerions sapeele ol waler pollalon.

Question Typa

Question 10 :
Option 1 10r:
Option 2 10
Option 3 1D
Option & 10
L Answered
t4

Status
Chosen Option

CMCOQ

6154758235

61547532109
61547532110
61547532111
61547532112

2

Q Croeed 2l zasy Commorication is essertial in aports maragement to eap alive it
(1] Toundation {3 vhurselers:lies
M PrNCipes. 1y dynamics
Options 1. 1
22
3.3
4.4
Qluestion Type | MCQ
Question 10 6154758220
Option 1 10 1 61547532049
Option 2 10 : 61547532050
Option 3 1D 61547532051
Option 4 |0 61547532052
Status © Answered
Chosen Option © 2
34 ;
hi Q Find the correct zequence of Carvon's Conceptual madel of Coheston factors from the below
=en codos
m Erviroomentol faetors, Personul Laclors, Tesn fustoss, Leaderstiap Tuelors
£ Tersneial Tacliors. Tedrn Teeboes, Tendershinpg Daclors, Fovirannena] Taawtloirs
1] Tesien Tuelors, Lendursbiz uelops, Personul Biclors, Envirsenesiol uelors
{4} Feovironmental Tactors Teim Gudoms, Prrsons] fetors, Teadershin febors
Options 1. 1
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3.8
4.4

Question Type . MCQ
Question 10 6154758267
Option 1 10 : 61547532237
Option 2 1D : 61547532238
Option 3 10 1 61547532239
Option & 1D 61547532240

Status | Answered

Chosen Option © 2

QI g the fallzwing which ame the characterietios 17 the thin myofilamentas of the 2relstal muanis

fibre !

) [T SR TT TR e

th]  comtains setin

i roRTATNE tramann
(d; rontaing ATTase

[15] ulbyebecs Lo Z-lioe
lFd) dows not e 1n 1 band

Charee LThe currect plaos Tmnn Phe coales given below

lr el e wnd v
2 G g e i)
i fah fd) smd )
(23] i) e} s=nd (1)

Opfions 1. 1
2.2
33
4.4
Question Type | MCQ
Question 1D 6154758226
Option 1 1D : 61547532073
Option 2 10 61547532074
Option 3 1D : 61547532075
Option 4 10 : 61547532076
Status | Answered
Chosen Option @ 1
Q.36

Toe hazs enerpe coupound formed from the sneyyw in Sood mclecules bonde, which 1a
released and stoved wih In our cells = called

1 Glyeogon

) e rsine-di-phies plisic

{3 Adenreina rriphosphate

14) Prooaphocreatine

Opfions 1. 1

2.2

33

4.4

Cuestion Type | MCQ
Question 10 : 6154758187
Option 1 10 : 61547531917
Option 2 10 : 61547531918
Option 3 101 61547531919
Option 4 10 61547531920
Status : Answered
Chosen Option @ 3
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Q.37
Malch the following (ermes m relalion o hen correspanling svarmes -
List1 Li=st T
() Macro-mineral i1y Copper
(h) Macro-nutrient 1) Calciam
{c)  Micro mineral {i11) TFolic acid
(d)  Whemn nutrient (iv)y Fatzy acmd
Chinnae the envrect aptions from the endes given helow
{1} dab-(ank, (bd-(ivh, (e, il
) {aGnh (b)-Gh (e, (d-i)
(3 (ab-(iv), (hi-iin). (o)1, (d)-0ii)
(4 (@) (bi-giih (e-iix, (d)-(i)
Options 1. 1
Ll
3.3
4. 4
Question Typa : MCQ
Question 1D 6154758248
Option 1 1D : 61547532161
Optien 2 10 : 61547532162
Option 3 10 81547532163
Option 4 10 61547532164
Status | Answered
Chosen Option © 1
Obesity 18 not directly responsible for which of the following dissaze?
i1y Dinbctes
(2 Izchemic heart disaace
13) Caneer
i) Hyperlipidacmia
Options L. 1
2.2
33
4.4
Question Typs : MCQ
Question 10 | 6154758206
Option 1 10 : 61547531993
Option 2 10 : 61547531994
Option 3 1D : 61547531995
Option 4 1D : 61547531996
Status | Answered
Chosen Option © 3
3]
0.39
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Mstch the following :

TList 1 List IT
(Term) (Parmula)
{a) Sten zcores i) 5+8F
() € —seores () 50+107Z
(23 T =corcs i) X M/SD.
(d)  Sigma — scrores (iv) D.5+27%Z

Choose the correct opticns from those given below !

(L (-1}, (b)-(iv), (eb-(in), (-t}
(2) (2} (@), (b) (1), (o) (1ii), (d) iy
M (Al (i), (e)-(11). (4)-G1)
(4 () dv). (b (D). {e) (). (d) (1H)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 10 : 6154758256
Option 1 10 : 61547532193
Option 2 |0 81547532194
Option 3 1D : 81547532195
Option 4 1D 61547532196
Status | Answered
Chogen Option @ 2
Woinh el Ke Tollever gz adnbily as mainly eosponsibli foe Tster skl saganulon?
{13 Btrength (3 Flemibility
3 Coordinslive abilidies i1y Speed
Options 1. 1
2.2
3:3
4.4

Question Type : MCQ
Question 10 : 6154758210
Option 1 1D : 61547532009
Option 2 10 : 61547532010
Option 3 10 : 61547532011
Option 4 10 : 61547532012
Status | Answered
Chosen Option @ 3

Q.41

Fur Lhe same mle of work. fnioed wenmen gensrally Have sirnibar cavdimasuler FEsDnmse Lo 21
comparably trained men. torough the following cxeept one @ find the meorrect anslusion 3B A
[ wearnen hiove Bigher hesrl sale Chanonen

2 subuey vardie oalpal wossoe forboth wen sod wozen
| eomen have hipher steoke solume than men

14 woman have same relative incveare in V0, max with that of men

Options 1, 1
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2IE
3.3
4.4
Question Type : MCQ
Question 1D 6154758188
Option 1 10 61547531921
Option 2 1D 61547531922
Option 3 1D 81547531923
Option 4 10 61547531924
Status ¢ Answered
Chosen Option © 3
Q.42 iy . ; : N _
Dbfaining o hizh correlation coetfiment betwesn admamreterins sn establiched teet and the
new test to the 2ame sindents at approximately the same thme sezult in
{1y Trrdictive validisy i3 Faes validity
] Coprurrent vulidily (dy pundrue valbiy
Options 1. 1
2.2
3.3
4. 4

Question Type

Status

Question 10 :
Option 1 10
Option 2 1D :
Option 310 ¢
Option & 10
- Answered
Chosen Option ©

T MCO

6154758216

61547532033
61547532034
61547532035
61547532036

fa)
i
1]
i

(1)
7
i@
i
Opfions 1. 1
2.2

3.3
4.4

QA3 Wik of the Lolleswinig wee voreed™

Yuartils deviation e & meagare of varisotlity taken about medism:

Coelficient of vurintion b e pereonioee vaetion of Uie geoup adiwsied wich wedian,
Lo postbive skowimess, Lea) s to vasy Do the sabivels.

PNegrea af freedam can be dsfired as the numher of indepenidant vaiakles which
auttsbilubes @ sladalic

Choese theoerrecopdioes from Phe grven ondes -

e} and {d)
{a) wnd ie
ih) and (&
ib} snd i)

Question Type

Status
Chosen Option

Question 10 :
Option 1 10
Option 2 10
Option 3 10:
Option 4 10
D Answered
'3

CMCQ

6154758241

61547532133
61547532134
61547532135
61547532136
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Q.44
Grven below are two stotements, enc s Assorton (A0 and the other cazon (L.
Apzarfinm [A] ! sTnude tteelfis a stress and exercising at alnirude ie abvesefiz] hecause lass
cxyeer iz avadlahle then ot sea vl
Benzon () : The pereentage of cyren in the alr ot alfitude 13 the somc a3 af sca lovel
bl burometrie pressure deercwsod with bercnsiog sibede,
Iz fhe Hght of the above two statomeonts chaoze the eorrect options ©
o Tt (A amed [FY sre Cros aend (R s e corrsst explanalion of (A)
193 Licch (Al and (1) ave crus Dut (1) 18 not the correet sxplanation of (4)
{47 LAY 13 o, but {18) ia falac
il (AL ix Tlse, bl (R s Lrue
Opfions 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 10 : 6154758269
Option 1 10 61547532245
Option 2 1D 61547532246
Option 3 1D : 61547532247
Option 4 10 : 61547532248
Status | Answered
Chosen Option @ 3
Q.45
Which of tha fallawing are corvart?
ta)  Dicplasement s veotor quantity
1] Lizztance can be mnre than displacement
o) Angulay divplaecment 13 angle formed botweon initial and finol position
td) Angle = Radius | are
frz Angles sre mevsured Froon the Lell horseonial seos
Choows the corracd aplicn Mrom Lhe haluw_g__':\.luﬂ rodee
tL fal, ohd. o) and (d)
) fa. (b v ()
k1] ml, ey and iy
4 faland (c)
Opfions 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 10 : 6154758225
i Option 1 10 : 61547532085
Option 2 1D : 61547532086
Option 3 1D : 61547532087
Option 4 10 : 61547532088
Status | Answered
Chosen Option ;2
Q.46

5305 2C
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Whieh of thee Bollow iug e eorreel about Gueshionnge?

) Lo wpen endid guesiion, speelly responsce s ke sarcughe proking dewlod e
and categmrios] TeEpNNERR .

Hi| I rwcding, sespondont pluey Ui meaponse oo eaod oeder wwording o seme erileris

o Ln zenled item, sespondent imndiente toe strongth of ther azrocment onky.

il Tn antegerica] ¥eapamiss, Mapamdant are STvan only Twn respnmess e1eh a8 "van ar mn’

Uhsass thie aaierec:l opline T Chee e

M g thy and g
£l Ial el and (d)
@ thyichand o

14 Tht and 013 only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question |0 6154758242
Option 1 1D 81547532137
Option 2 1D 81547532138
Option 3 1D 61547532139
Option & 1D : 61547532140
Status | Answered
Chosen Option @ 3
Q47
Meich the follownng peanciplo: of strength fvoaning with thicy benctiewnl cifoots -
Lial Liad IT
{n} Primeiple of woricty B Determeming weadincas state
thy  Fromciple of speridisity (i Imorcnzcd Wors capRoTty
1) Prineiple of Individuslenlion [ir  Te wehivve growlor ndoplubion
iy Proneple of prosevesion ol loud (e Pustbive offoet pevehologivu] well el

Chosoze e vuzrerl oplives Jon Uose siven bolow

1 LA TTRNE L A T R B PR
12y gk, (-Gish -0, Gdilil)
G G i -, Gd-dii
LV Y SV VR e B B [ AR

Optione 1. 1
2.2
3.3
4.4

Question Type | MCQ
Question 10 6154758255
Option 1 10 : 615475321689
Option 2 10 61547532190
i Option 3 10 1 61547532191
Option 4 1D 81547532192
Status | Answered
Chozen Option @ 2

Q.48

5305 2C
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Tlane which divides the hady into sinater and dexter ia known as
{11 Frontol planc {21 Cororal plome
(&3] Bagegital plane. {4} Heorizontal plane
Opfions 1. 1
2:2
3.3
4.4
Cuestion Type | MCQ
Question 10 : 6154758191
Option 1 10 : 61547531933
Option 2 10 61547531934
Option 2 10 - 61547531935
Option 4 10 : 61547531936
Status | Answered
Chosen Option 1
.49 : ; ; 2
Teacher — mediated instructicnal format cousists of
ial Active Teaching
b Task Teachinz
() Reciprocal Formeal
(i Teaching throught guestions
Choose the correct opticns from the following :
1 (@), b @
2)  {a). (e) (d)
3 (o). 0). (D
4 () & (c)only
Options 1. 1
2::2
3.3
4.4
Question Typa . MCQ
Question |0 6154758246
Option 1 10-: 61547532153
Cption 2 10 61547532154
Option 3 10 : 61547532155
Option 4 10 : 61547532156
Status | Answered
X Chosen Option 2
Q.50

5305 2C



12/12/2015 Pittps: ffedn, clgialm. comy per g2 e fpubf 2083/ teu chetone /A sepsem entOFH TMLMode 1/ 20630 192 5620 63015256 56. ..

Vhich of the following is not corroet about Newson's law of univoranl gravitation’
11y Kok and cwery objost in thiz universe attract coch other with cgual nnd opposite
Turee
2 Furee ol pruvity b diveelly propoctivoe b the produst of Shoe e ol Leo obivels
3] Feorce of grovisy 1z inverscly provorticonal to the distance botwoon the trro obiccta
[4) Force of gravily is iowersely prapostions] Lo Lhe sgusre of Dhe disteree belween the
Lwwir ohjiouis
Options 1. 1
2.7
3.3
4.4
Question Type : MCQ
Question |0 8154758192
Option 1 1D : 81547531937
Option 2 1D 61547531938
Option 3 1D : 61547531939
Option & 1D . 61547531940
Status | Answered
Chosen Option @ 4
Q.51
Which of the following type of [lepatiss is water borna?
(1) Hepatitis-B (2) Hepatitis-C
(3 Hepatitis-D i4) Hepatitis-E
Opfions 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 10| 6154758203
Optien 1 1D : 61547531981
Option 2 1D : 615475319682
Option 3 1D : 61547531983
Option 4 1D : 61547531984
Status | Answered
Chosen Option ;2
Q.52 (iven balow are two ciatements, one 12 Azeerbon (A) and the ocher is Hasgon (K
Appertirm (&) Temdnne ard ligameste are Jeen slazfic in somparianm tn faseia, whick
EI’H:‘[III!H’N I}IE‘! rﬂl‘.lll!lridl'le‘ﬁ E‘ﬂ'."f‘.‘lﬂFliHK l]ll"‘ il'l.i]i'\.';:]'l]}fl |'|II|'>'91:-IT". '|l|.la'>ﬂ€:.ll.1 :vt.lll'bx
and fasciouli.
eazsen (12} Tendons and Hzaments have prearer amount of collezen, than taacia which
ir lesr alasris.
Tr the corbest of Uhe above sbsbrmmeals wheih one e Lroe
{1 Boh 20 and (E) see e wed (R B8 b esemest cxplunabivn ol 10
H (] Dach Ay and () are twue and (R} ie not the correct explanation of (A
(=5 (A7 1= Limae, Tal (R Gs Galee
4y A 13 alze, bt (U 15 trae
Options 1. 1
2.2
3.3

5305 2C
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4.4
Question Typa . MCQ
Question 10 : 6154758270
Option 1 10 : 61547532249
Option 2 10 : 61547532250
Option 3 1D : 61547532251
Option 4 1D : 61547532252
Status : Answered
Chesen Option @ 1
Q.53 ; ; ;
Which cne s the besl ipeasure Lo molivale athlelzs?
(1) Intrmnaic motivatinn 3 Amotivation
{3 Biological motivation (4] Extrinsic meotlvation
Opficns 1. 1
2.2
33
4.4
Question Type : MCQ
Question 10 6154758187
Option 1 10 : 61547531957
Option 2 1D : 61547531958
Option 3 1D . 61547531959
Option 4 10 . 61547531960
Status | Answered
Chosen Option 1
Q.54 Y " ; g 5
TWhineh Firws ol Uhe following ars correct wilh regaed oo bessbeTer of Lesmang?
iy Megubive Lpslor
) Dismal transfer
iz Positive transfer
idi Fero warsfer
Chuoee the correcl opbione Crom thoss given below ;
{1 fah. (e s G}
h (i}_l. fe HII,I::! M
18] (ay, (h) and (o)
() (b (b)) ml (d)
Options 1. 1
L
3.3
4, 4
Question Typa : MCQ
& Question 1D : 6154758231
Option 1 1D : 61547532093
Optien 2 10 : 61547532094
Optien 3 10 : 61547532095
Option 4 10 . 61547532006
Status | Answered
Chosen Option © 1

5305 2C
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.55
R Timger tests comprising of more number of iterns tend to he maove
(11 valid
4 objective
(=) reliable
(4] teasible
Options 1. 1
ity
33
4.4
Question Type : MCQ
Question 10 6154758183
Option 1 1D 61547531901
Option 2 1D : 61547531902
Option 3 1D : 61547531903
Option 4 1D : 61547531904
Status | Answerad
Chosen Option 2
Q.56 ; ;
Which of the following are correct?
(a2 The age limit of special area game scheme is 12 — 15 vears.
(b} ;‘l"rrr.ia] area game scheme nelades i disciphines.
() Wational Soorte Development Fund was establiched in 1908,
(e} MNational Sport Development Tund was estahhshed 1 2000,
Chuose Lhe corrsel vplivos from Lhe codes given below ;
M (o) und (o) oaly
(2) (a) and (d) only
(3¢ {a), (b) and (d}
(4) ol and (d) cnly
Options 1. 1
2:2
3.3
4. 4
Question Type | MCQ
Question 10 6154758234
Option 1 1D : 61547532105
Option 2 1D 1 61547532106
Option 3 1D 61547532107
Option 4 1D : 61547532108
H Status © Answered e
Chosen Option © 2
Q57
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Two variables are said to be perfectly negatively correlated if
(1) covariance between them is positive
(2) coefficient of correlation betwesn them is zero
i3) coefficient of correlation between them is —1
i) covariance hetween them is negative
Options 1. 1
2.2
3.3
4.4
Question Type | MCQ
Question |10 8154758211
Option 1 ID : 61547532013
Option 2 1D 61547532014
Option 3 1D 61547532015
Option 4 1D 61547532016
Status | Answered
Chosen Option © 3
VWnich of the fallnwang grouns of plana 2re in the corect dercending seqnenrial crdear in term
of duestion
(k] Conevpiual pluc, Mese-cvele plag, Sivro-cyole plan, Maveo-cyelc plac
im Wisrp cvole plan, Meso cycls plan, Maso: seale glin, Caneeplam] plarn
R} Macro epsle plan, Meeo cycle plan, Micrs oyele plan, Conceptual plan
4] Cuneepran] plucs Macro-evee plaz, Moso-svele plao, Mivro-evele plun
Options 1. 1
2.2
3:3
4.4
Question Type | MCQ
Question 10 | 6154758264
Option 1 1D : 61547532225
Option 2 10 : 61547532226
Option 3 10 : 61547532227
Option 4 10 : 61547532228
Status | Answered
Chosen Option @ 3
Wateh the AcademyiTun siven 1o List T wath their vear of prtahlishmesnt givsn o Tast TT.
Laer 1 Last 1
(a)  Tara Faothsll Arademy ['i} THET
ry Air India Bockay Arademy a1y 200
o} Gopchand Uadninton Academy {m} 1987
(dy  Churckall Brothers Foothsll £ lub. Goa 3w 19ES
Chaese the aorrect nptions from the below given rodes @
(L G, (i, -G, (d-tin)
i e (@ . Ay fal v, (d) )
4y iy AT (e (m kel G
(G (a) (b, o) i, ) () Gl g
Opfions 1. 1
2::2
3.3

5305 2C
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4.4
Question Typa . MCQ
Question 10 | 6154758252
Option 1 10 : 61547532177
Option 2 10 : 61547532178
‘Option 3 10 : 61547532179
Option 4 10 : 61547532180
Status : Answered
Chesen Option ; 2
"T'Hn:'ﬂl. n‘Ty [AEFAEH “ﬂ]luln Aeheos™ ol Iﬂinlnl-r_'..' ol Hjmnw\ il Treliig was ﬁ_l.alrﬂmi i M—]‘ll-:ﬂl ul Ehs=
ﬁﬂl:r_m‘af_[g '_.llmr'?‘
4k ] 2MEF 2 2004
& 20l ) 2018
Opfions 1. 1
2.
3.3
4.4
Question Type : MCQ
Question 1D 154758201
Option 1 1D : 61547531973
Option 2 10 61547531974
Option 3 1D : 61547531975
Option &4 1D : 61547531976
Status | Answered
Chosen Option @ 3
Q81 . A
What were the lagt words of Pheldippides the meat athlete whe van from Marathon o
Alhun:?
(1 Calzbrats, wa wem {4y Hejowes, we conguer
(3 Chesars. wa canguarad (1) Hip hip Hures
Options 1.1
2.2
3.3
4.4
Question Type | MCQ
Question 10 6154758207
Option 1 1D : 61547531997
Option 2 1D 61547531998
Option 3 10 61547531999
Option 4 {0 81547532000
Status - Answered
Chogen Option @ 2
Q.62
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Which of the followings are correct about running gait evele?
(a) Swing phass is leneger than Stance phass
(b Double support period 1g present
(c) Body floating period is present
(d) Position of body COM during Swing phase 15 igher
Choose the correct option from the below given codes :
(1) {a). (b) and ()
@ () (c)end @
(3)  (a) and (d) enly
@) (a) (v) end ()
Options 1. 1
2.2
33
4.4
Question Type | MCQ
Question |0 6154758228
Option 1 1D : 81547532081
Option 2 1D : 61547532082
Option 3 1D : 61547532083
Option 4 10 61547532084
Status © Answered
Chosen Option © 2
Sraiiencal technique vaed to reduse 3 et of dass by crouping similar vartablee inte basie
sompanants 12 Enoern ae
i Weta analysiz
5 Facroe analysis
m Frror varianse
(] Coanamieal correlalion
Options 1. 1
2.2
3:3
4.4
Question Type : MCQ
Question 1D | 6154758214
Option 1 1D : 61547532025
Option 2 1D : 61547532026
Option 3 1D : 61547532027
Option 4 10 . 81547532028
i States | Answered
Chozen Option © 2
Q.64

5305 2C
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Find Lhe eerncel sequemee o siopa ol i e of museulur vonleselivn o Che Gllowlg
Chegea W e Laplios
1L ATPE broaks down, caletum roleazed. mactivation of fvoponin, wmovain pulls setin
sctin myosin coupled. aciion potential penerated
2 Coloum volascd. acton potootial gencrated ALY breeaks dews, iractivetions of
troponin. actin ard weosin coupled, miyaain pulls setin
{3 Action potomtiel goncrsbod, caletom peleased, Dmaectivation of tropomin, aetin and
roveein conpled. ATD breaks dows, myvesin pulls actin
1y Aotior potentin] goremmicd, nuetivebion of teoponing esleinm meloasd, ATP hreala
Aawrn. myasin pulls 3cting setin and mysein canples
Opfions 1. 1
2::2
3.3
4.4
Question Type | MCQ
Question 10 : 6154758259
Option 1 10 : 61547532205
Cption 2 10 61547532206
Cption: 3 10 61547532207
Option 4 10 : 61547532208
Status | Answered
Chosen Option © 3
Q65 . e ! sy ; i o
Whiiehs of Uhe [oflonwiog s pol o baesic iethed of condilionieg for povies alblcles?
11 Hepitizion method
[ Cross trameng method
(5 Conlingous method
) Flvomectric method
Opfions 1. 1
2.2
33
4.4
Question Typs : MCQ
Question 10 : 6154758208
Option 1 10 : 61547532001
Option 2 10 : 615475332002
Option 3 10 : 61547532003
Ciption 4 10 61547532004
Status : Answered
Chosen Option @ 2
Q.66
Which of the following 13 nov trus about projeccile motion. when heizht of relenze and
-:R flail]g ih s TTIE?
(1 Lisvizamtal motion of a pedjeciils 15 independent o 1te vertiesl miation
(&3] Rairgge of prieciale will e same i sn abject i prajected a0 G0 aod 307 prowided thal
voloeiny of meloaae s conatont
1] Fange of propeotile = direc Ty oroprSonal lohe Tons ol gravily
(4 Baners will be maxizeam it a shot putter pur the shet at loss chan 45¢
| |loptiens 1.1
22
33
4. 4
Question Type | MCQ
Question 10 : 6154758194
Option 1 10 1 61547531945
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Option 2 10 : 61547531946
Optior 3 10 G1547531947
Option 4 10 : 61547531948
Status | Answered
Chosen Option @ 3
Q&7
Which of the followms wos ot the objoetine for eaald sports cdueation developed by Deryl
Siedentup of U 3.A7T
(L Competant (21 Literste
31 limthumastic sports poople 4 Wellnoss
Optons 1. 1
2IE
3.3
4.4
Question Type : MCQ
Question |10 | 6154758200
Option 1 1D 61547531963
Option 2 1D 61547531970
Option 3 1D : 61547531971
Option 4 1D : 61547531972
Statls | Answered
Chozsen Option © 1
Q.68
Mt hae fleams gi\':.-n in Tl -I:‘A.'“.}I Ui e exaurtlece pllri gib_q:‘n in Tast TT
Listl Lizt 1L
fay Chronelozieal age 1 Ape an e the pherisiogioa] mparities
ofthe child
by Anulensesl ape wy  Are of chidd as per pewend 1n vews,
it and dbays
() Plysiclewiee] ume R Agy ws pur eogoilive deselopmeznt of
the child
(v [ental ape (I As per prowth snd development of ihe
saelotol svsbom of child
Chiooss the rorvect nption fram the eodes given balow -
(L i, fci i, il
(2} (a4, (hl-(iw), {2)-a), (d)-(mi)
3 e b ) e (B ) i
(4} L edii s (G b, {300
Options 1. 1
L
3.3
4.4
Question Type : MCQ
Question 1D | 6154758239
Option 1 1D : 61547532125
Optien 2 10 : 61547532126
Optien 3 10 : 61547532127
Option 4 10 . 61547532128
Status | Answered
M Chosen Option © 2
QB9 Tenchers often use whick trpe of testing to guide - “what and how 1o teach”™?
13 Tormative (21 Diasmiostic
{30 Termimal ¢4 Sumpative
Options 1. 1
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2.
3.3
4.4
Question Type : MCQ
Question 1D 6154758217
Option 1 10 : 61547532037
Option 2 1D : 61547532038
Option 3 10 : 61547532039
Option 4 1D : 61547532040
Status - Answered
Chosen Option | 2
Q.70
Mzazch the following diseases with thelr respeciive cansative factor :
Tast T Tist 1T
Diseases)] {Causative Factor)
{a) Dharrhoes i1}  Dacteria
(b Swine Flus (1) Genelic Disurder
{¢y  Tuhsrculozig 1) Parasite
id) Diabetes vl Virus
Chooac the eorreet options from those eiven bolow
(1) [a)-083), (hj=(1w) (201, (d)1-a1)
@)t (b)) e)-0), (-0
{3 (a)-(3). (h)-div), {=)-(d1), (d)-(iid)
(4 (a) (i), (b) (1L, (o) {iv) (dd i)
Options 1. 1
2.2
3.3
4.4
Question Type | MCQ
Qluestion 10| 6154758253
Option 1 1D : 61547532181
Option 2 1D : 61547532182
Optien 3 1D : 61547532183
Option 4 10 : 61547532184
Status | Answered
Chosen Option 1

Q71

(1)
()
(3
4)
Options 1. 1
e

3.3
4.4

Identify the correct zequence of control eyele

Action, Evaluslion, Feedback. Adjusbinent
Feedback, Evaluation, Adjustment. Action
Action. Feedback, Evaluation. Adjustment
Adjustiment, Aclion, Feedback, Evaluation
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Question Type | MCQ
Queestion 10 8154758262
Option 1 1D : 61547532217
Option 2 10 : 61547532218
Optior: 3 10: 61547532219
Option 4 10 : 61547532220
Status | Answered
Chesen Option @ 3
Q‘Tz Telalch Uhe following melrienis with Cheir fanciione
Tasl-T =TT
(m lrighvectide ) catalyst inebomical eaction
(b Glyeopen {J':':}_ snrymes and bormones are produosd
fep Amino azid )  eonesntrated snergy souvoe
L O P ™ T TE (1w e t"ﬂE‘]’B‘_l ﬁnwif]er ddurimeg hisds
imtenzicy exsveize
Churngser the correcl aplions Prom Choes given below
41k ass b find M) fanik fed o, {el) o}
L (=L AR (LD, fed- 120, (li-(iE)
A8 el Ma-favh, feHdi, ik
il (o (aay, (B) vk, ded (), ) (1)
Options 1. 1
L
3.3
4.4
Question Type : MCQ
Question 10 | 6154758225
Option 1 1D : 61547532069
Option 2 1D : 61547532070
Option 3 1D : 61547532071
Optien 4 10 : 61547532072
Status | Answered
Chosen Option © 4
Q73 ; oA G SR L
The guartle deviation of Normal Dhetmbution 18
1 2
(1) = 2 =
: 2 3
L 1
@ = T
3 4
Options 1. 1
2.2
33
4.4
Question Type | MCQ
Question 10 : 6154758213
Option 1 1D 61547532021
Option 2 1D . 61547532022
Option 3 1D : 61547532023
M Option 4 1D : 61547532024
Statls | Answered
Chosen Option © 4
Q.74

5305 2C



12/12/201% Pittp sfodn. diglalm. e omd per g2 8 fpuby 2083/t o chstone B esessin entOPH TMLMcde 1 2 0B30 192 56/20 B30 1525656, ..
Arrange (e fulliwiog Malor Filesss Teste os pae (e yoear of sonsieackion g assndiog
order
[E1 Ulrswan Mol Fiirosss Teesl.
1= SAHTER Voath Fitnens Test
i) Dndisns Metae Ditness Teet
it Vleismmean Test of Motor Ditneas
Chooss the carrect option |
LN ek (. ik and dnd
62 [elh (b f8) apd (d)
65 fal s (o and od)
i ki fe) (dl and (2
Options 1. 1
2.2
3:3
4.4
Question Type : MCQ
Question 1D | 6154758266
Option 1 1D : 61547532233
Option 2 10 : 61547532234
Option 3 1D : 61547532235
Oplion 4 10 : 61547532238
Status | Answered
Chozen Option © 3
Q.75 . . . ) . : ’
Hor calealatinns of Body Maze Indes, whach of ~he tallowng parametarz sre remquirad?
) Hueight in Cenlimeicr
(L] Weight 1o Filogmuomn
it Ileight in Matar
() Budy Fal %
18] Weighl in Pournds
Thensa the cotreck aptions trom those given baloes -
el eod (B
2 i nnd i
(3 fak idh and e
it by and e}
Options 1. 1
pLi
3.3
4.4
Question Type : MCQ
Question |10 | 6154758236
Option 1 |0 61547532113
Option 2 1D 61547532114
Option 3 1D 81547532115
Option 4 1D : 61547532116
Status | Answered
Chozen Option @ 4
Lyl
Q6 |y 1064 Diveetéats of Natiznal Dizdpline S:héme st wp Centrsl Training Listisuse 2o cater
The demmarsh of phiysie 3] a3 oo dea bers 20
2} Grvalaor (MLE (2 Sdwar Magasthan)
H Burwuha (2LE. 4 Puse
Options 1. 1
2.2
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3.3
4.4
Question Type . MCQ
Question 10 : 6154758199
Option 1 10 : 61547531965
Option 2 1D : 61547531966
Option 3 10 : 61547531967
Option 4 1D : 61547531968
Status | Answered
Chosen Option © 1
Q77 \Which of the two ars the seurce of philosophic principles from <he following?
fa)  Insicht
i Priveiplas drawn from physsology
ic) Lawsz ¢f learning
iy Experience
Codea the porrcet option
(L {aiand b
2; (brand )
3 teeh rerned (el b
4 {a)and (d;
Options 1.1
2.2
33
4.4
Question Type : MCQ
Question |0 : 6154758245
Option 1 10 : 61547532149
Option 2 1D 61547532150
Option 3 10 : 61547532151
Option 4 1D : 61547532152
Status  Answered
Chozen Option @ 4
Q.78 ; b
Sports managements last chaon of ink 1
(L public relations ¥  directng
(2) comtrol and evaluation i4)  Enance and budget
Options 1. 1
2:2
3.3
4.4
H Question Type | MCQ
Question 10 : 6154758222
Option 1 10 : 61547532057
Option 2 10 : 61547532058
Option 3 1D . 61547532059
Option 4 1D . 61547532060
Status : Answered
Chosen Opticn © 3
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Q.79
The D.IM. proceee 1c one method ueed to setablich a
(1) Eupervising Management Programme
(2) Personnel Management Programme
(3 Eisk Management Programine
(4) Budget Management Programme
Opfions 1. 1
2.2
33
4.4
Question Type | MCQ
Question 10 : 6154758221
Option 1 10 : 61547532053
Option 2 10 : 61547532054
Oiptior: 3 10 61547532055
Option 4 10 61547532056
Status | Answered
Chesen Option @ 2
Q.80 T which renmrry “Misin for apirit and Gemnastics Tir-the body” was eoneidered Smportant ©
(1 Crresce 2y lioms
(3 Bwuden (41 Dumourk
Options 1. 1
pLir
3.3
4.4
Question Type : MCQ
Question 1D 6154758186
Option 1 1D : 61547531913
Oiption 2 1D 61547531914
Option 3 1D : 81547531915
Option 4 1D : 61547531916
Status | Answered
Chozen Option © 1
Q81 Who of the following propmnded thot an indrAadoal would not eonc under stress unleas
higfer pemeplion sboul e silation i threslening?
oy Lazams 2] Adler
[ LEmiraom 4 Larncy
Options 1. 1
2.2
33
4.4
Question Typa . MCQ
Question 10 : 6154758224
Option 1 10 : 61547532065
Option 2 10 : 61547532066 5305 2
Option 3 10 : 615475332067
Cption 4 0 61547532068
Status : Answered
Chosen Option @ 2
Q.82
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Matrh the fallowrinz rotronta with theie reapective deficioney symdrome 2
Taat T Tast IT
{Nutvicnta Mefisirney syndrome)
() Wilannn Haz (1) Guoiler
(k) Witz 1) (i) Kweashiorkor
ey Protein iy Osteomalacia
idy  Todine l'?'.vj FPernicicus Anzemia
Chiwose bhe correct oplivos rom Uhose given Lelow
(1 (ad Gy, (o i), ) (G, Cdd GG
(20 (0 (b, (o) Gv o) (D)
(3 (a)-iiv). (i), doi-fih. (d)-1)
4 ()G, -Gy, i, (@
Options 1. 1
2::2
33
4.4
Question Type : MCQ
Question 10 : 6154758254
Option 1 10 61547532185
Option 2 |0 : 61547532186
Option 3 1D : 61547532187
Option 4 10 : 61547532188
Status | Answered
Chosen Option @ 4
Dduteds che dimensions of persanadily given m Lost §with en chueseteristes given i List I
Tasl T Tisl TT
2] Exirovsrsion {1} Ciewnd tatn et armd congeerstive
( Apmeablernsas iy Socishble and enlhusisstis
() Lrmctonal etabiity ) Imsrinative and smeple
(g1 [psnmess to sxperienes ir) Hrized and calm
Zhoosc the corroet options from the efven bolowr codes
i1 Ll (1, (Rl (iiEh, G- (b, (b0l
e Can- 105, (-0, fidethh, CEH-ED
Fr A L R G . il d
i (a)01f, (h (i (3 (i (8 (1)
Options 1. 1
2.2
3:3
4.4
Question Type | MCQ
& Question 10 : 6154758251
Option 1 10 : 61547532173
Option 2 1D 61547532174
Option 3 1D : 61547532175
Optien 4 10 : 61547532176
Status | Answered
Chogen Option 2
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Q.84 .
“Which of fhece thres pereenfames fall within the range of apper snd lowsr group in Ttem
annlyeis?
im] 20 porocnt.
thi HE pRrdent
fel 2 pureeril
e} 33 percent
Chowze corrcet cpticn Som the fallotang -
I'H I'au'l-< EH:I anil [1.‘.
(21 bl te) and )
@1 fal e and o)
14} [ui, (b meed (3
Options 1. 1
22
33
4.4
Question Type : MCQ
Question 10 ; 6154758244
Option 1 10 : 61547532145
Option 2 10 : 61547532146
Option 3 10 : 61547532147
Option 4 10 : 61547532148
Status | Answered
Chesen Option ; 2
Q.85
Which of the following factor deteriorates the most, the pace of recovory?
(1} Sleep 12}  Nutrition
)] Ohverload (1) Sell eslesmn
Options 1. 1
2.2
33
4.4
Question Typs : MCQ
Question 10 : 6154758209
Option 1 10 : 61547532005
Option 2 10 : 61547532006
Option 3 10 : 61547532007
Option 4 10 61547532008
Status © Answered
Chosen Option @ 3
Q.86
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ven below arc two statcments. ene 12 iabelled a3 Asscrtion (A and the other 1s Iohelled s
Ienzon (1.
Aszertion (A): Majority of the existing sports akilll tects avs imappropriate s they ars
admirdarzred to Individuals 1n an axcifieial situation,
Resgann (R - Hiner o arn plaved aloog with lem oernheers aginsl apponenls, o
rae measars of ekill test cuzhs to be aloms with othere and net in
Lo b Lighsh el abeov e bwe slwiements ehooss He worrvel optoen Teons He boelow given vodos
I_1,'- Fuh lr‘u i ['R] wrn Lrge nd ﬂ'{] e thim carmect nuan.n;_:l.illn wf {r\j
i Dovh &) and (T ave towe but (T iz net the coveect sxplanation of (A)
BI (AL 33t but (U85S felac
4 (A 12 false, bat (L33 trac
Opfions 1. 1
2.2
33
4.4
Cuestion Type | MCQ
Question 10 : 6154758272
Option 1 10 : 81547532257
Option 2 10 : 61547532258
Option 3 1D - 61547532259
Option 4 10 : 61547532260
Status | Answered
Chosen Option ;2
Q.87
Match the terms sven in List [ with their deseriptors piven in Ligt L -
List I (Teruy List IT (Purt of boneh
(i Truchanler 4 A smell kncbby propection of bone
h Tubercle {ii} A mprajecting parr o’ hone
g} Proecss i) A sharp projocting port of bone
iy Bpine (v ah Jaree Loobhy progecticn ol boo
Chooee the correct, options from the eodes given balow
1k (b 2], o (I fed il g (3l
(e (h-(i, fe-in), ed)-iid
17 (2000, (i, G-, (il
(1 bl (e, ey, dd) i)
Options 1. 1
2.2
33
4.4
Question Type | MCQ
Question 10} 1 6154758250
Option 1 10 : 61547532169
Option 2 1D . 61547532170
Option 3 1D 61547532171
Option 4 1D 61547532172
Status | Answered
Chosen Option © 2
Q.68
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Which of shi follosing trro factors are considened Importans in interval trainseg method?
) Coomplels popveny pauses
[hp Maniboring pulse mies
e} Wrmitering hland pressars
1y Incomplste recovery pauzss
Clrrousu thie corpoel uplicn
{1y (h snd (o
{(# & snd @
[5h b} and id)
M alandib)
Opfions 1. 1
2:2
3.3
4.4
Question Type : MCQ
Question 10 : 6154758238
Option 1 10 : 61547532121
Option 2 10 : 61547532122
Optior: 3 10 61547532123
Option 4 10 : 61547532124
Status | Answered
Chosen Option @ 4
Q.89
Which onc of the following 13 not the funetion of management?
(1) Directing %y  Union leadership
(3)  FPlanning i4) Co-ordinating
Options 1. 1
22
3.3
4.4
Qluestion Type | MCQ
Question 10 6154758219
Option 1 10 : 61547532045
Option 2 1D © 61547532046
Option 3 1D : 61547532047
Option 4 10 61547532048
Status © Answered
Chosen Option © 2
Q.90
g
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Ohjrecivan of maragemant ars implamentad inar srgamizstion by fnllowing stages
[wl Chue sins strulogivs appoc privte Lo e ohjeelives
{hi  Aseipmang responeibilities for achlsving objectives
[} Srbedinli g specile acilies G schisee masimom reseures olbilisiion
iy Adlecating pesouresa for achicvine objectives
Choozs the corrset sequence of objsotives 1o the term of astiom plan from the following
ophions ;
By} fad, [l fed. (b}
E]] {hi. (ed. {d}, ta)
Bl G ek )
{4 {al (B idy, 2
Opfions 1. 1

2IE

3.3

4.4

Question Type : MCQ
Question |0 | 6154758247

Option 1 1D 61547532157
Option 2 1D 61547532158
Option 3 1D : 61547532159
Option 4 1D : 61547532160
Status | Answered
Chosen Option © 3

Qa1

Comprehension:

Resiond 1hee Tillow ing pacprseh careTully asil answer the guesions Whal 3o

Bugecss vr Lalwre o W Dol clien depends coomseial Tncbors e zoick e phvaiel oo,
Fpurts peychologists revosnize Gue dewenede Dnpeet of the achlecr's windses uond fueus oo
prepuring thye nind o overeome chetacies oo Che Gold whiile bocsting sonftdenes for oplimal
suslvrmmmes, Euvh aond ov voe ul us b wnunlupped coceegy sowvee thul voee be deos o
wepun b b bl superive pesulls, BEobueeine motivaiion i Doesdamentsdly alibe poeliaeee
P zrtitde, developing a posirivs “ran dn’ mindser and emgaginz in systewizcis hehasiour —
the shoe tem peceess gnals — shat factiizate mprovement. TF vou have 2 leadeesin rale in
sment yorr w1l have comsiderahls inflnence an how sebvated Foor athleres ar teant might
feal, o ram inanll A goad wools sthic reengnize Tndidual affort and institute fransnarent
moemnTe styoetures thet roinfoeee people™s zense of aocompliabmee it T worlk Best tochnigues
mentiencd in the avtiele neod 2o be mowlded around speczis comurmetonecs and the necds ab
the indizdizal athlebesd lwors strove to be ompinal and monovewnds o sEe appication of
wodietienal feclmndques:

SubQuestion No : 91

What techminues are reccmmrended by a soort pevnhologist to st late anoathleta?

1y oripinal sand innsvacive 121 chosse and follow role model
i3 rend bivgrupiy and folluw (41 mive 100 pereent
Options 1. 1
22
3.3
4. 4
Question Type | MCQ
Question 10 : 6154758276
Option 1 1D : 61547532269
Option 2 1D : 61547532270
Option 3 10 : 61547532271
Option 4 10 61547532272
Status © Answered
Chosen Option 1

Comprehansion:
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Liead the tollowing pavapyapk cavefully and answer the gquestions that Zollow:

Buceess or T ilure o (he Tl olles depends on meqcal Tsctars ax oouch as phicsies] ones
Sporrks pesrhalogsls rerognize e drann e

pack of the arhle es mdset and foows on
g Lz onmreinee ol e

preparing The o < or Fhe Deld whils Tt g cunldemes Sor oplime’

e, P terie ol ns

e unlspped Bieeks sree il oo e deeas
Tring alisul superiae pesuli=, Fribue e

e sl izakinn as fardamend =1

siow e

T aztrtade, developing a positive ‘can do mandse: and empamny in

the choet Term prccass goals — that facllizate Inprovement. 12 vou have 2 leadersiop rale tn
srent you will hzwe sonsiderabls influence on how metirated voor athletes or team might
feal Won can mnetzll a good wors sthic, reengmize mdividual effert and institute transparent
e sleebuweey Uil reandoeee peopls s of sevemplishioenl, Te work Beel belinigues
aenlicnnad Lo Ve webiele sevd e be wedded wrsund speecie eovussiunnes sl e needs of
dhie andivedunl sihletes Adwovs sbroee to be vepmond wod mnevedel o (e applivatios of
anbovubicne] lechogues,

SubQuestion No : 92

For Lop eloee purlormaonce, whal ure the prercguisilos peowgnized by gpert payebologio et
o Preparing the mind To evercame ohstacles on the fisld

{5 toadont = pesitive athitnde

(3 to rRINETIZE A ANOERMAT I sneiety

1) to provide srnosTE

Options 1, 1

2.2
3.3
4.4

cvstemsnic behavzour —

Question Type
1 6154758275
Option 1 1D :
Option 2 1D ©
Option 3 1D ©
Option 4 10 :
L Answered
X

Question 10

Status
Chosen O ption

MCQ

61547532265
61547532266
61547532267
61547532268

Comprahansion:
Foead the follow e puemsressh euvelully wod woes wee (e guestioes U Tollows

Suscsze or falluve on the Beld often depends cn mental fectors 32 mmich as phyeicz] cnee.
Hperts pevcholomsts recoymize the dramatie mapser of the athlece's mindzet and focus en
preparing the mand to evercome chetacles on the Aeld whils boosting conttdencs for cptimal
portormancs, Bock and ovors oo of us has an untapoed cnorsy soures that eon be deawsn
uped to b abont superioes vesultz. Lohanemy motivation 28 findamentnlly about o chazge
n®ribibade, developing a posilres w0 omiandse aed sopmeng an sy lemiaiic el o —
e shor! temn proress piels — Sl faciloabe irmprovement, TT von have o lelsmbin mle in
worew il have eonsiderables inTuenre an how vnbivaled woeor alhlsies or tram mighl
Feel, Wi s sl T o wond e a0 Tiies emeogniee indivad cal el and Tnsilabe Tssnspomnl
wsenparc styietures thes reintoce people’s tense of aorcmplishvsent. L wouk Bect techniques
wemtioned in the articls nesd to be moided arvund epeciic eiviretances and the needs of
the indrmdual athietes. Abwsse strove to be oopinal and muoovaiws o the application af
motivaticnal techniques.,

wEMIN L

SubQuestion No : 93

093

113
2

Options 1. 1
2.2

3:3
4.4

Which wee the bwe Biclurs oo whoeh viclery and delesl s bused?

oteleetoupd voe veotivalonne] eetors (21 mestal aod goeial fnelores

(4 phyaice] uod plovseolosion] feelors

phyaalosien] wod aeceial Jaelors

Question Type !
6154758278

61547532277
Optien 210 :
Optien 3 10 :
Option 4 10 :
L Answered
Chosen Option :

Question 1D
Option 1 10

Status

MEQ

61547532278
61547532279
61547532280
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Comprehension:
Reond Uhie Tilloaw g pos s ob esoreTullbe el e were he quaesiions Lhal STl

Buseozs oy fadure oo the Beld often dépends on micntal foctors a3 zmch oz phrsitnl cnos
Sports pevchologizts vocogruze toe dramenie impoct of tho athlese's mindzet and foous v
preparing the mand £ evcrcome obstacios on the Acld whls Bocsting confidencs for optimal
portormancc. Becls and evory onc of vz hasz an untapped cncrsy sowres thot con he denmm
upon to s obout superice pesultz. Lnbencns motivarion s lindamestolly abost g chaznes
nlaibude, developing s posibtive o S oaindse: arad copmging inosrztemalic beloimnn —
thie shur Cein process piels — thal Gaeloabe rnprovement. T7 von heve o lealemdnn mle in
spant yort wAll have eomsidsvahla influsnce an how motivstad Tror athleres nr team might
faal, Wan can inatll a gond worl sthic meengmize mdidnal effart and inetitnte trananaremt
sewrnre stractures thas roinfovce people™s ensc of aoccmplishuscnt, L woulk Bost technigues
menfioned 1o the avticle need 4o be mouided arcund spociz ciwnrestonecs Axd the necds af
the ndizdial sthlctes Slwers strive to be omginal and mmooveinrs 1o the applcation of
mptwetiensl tochinigues.

SubQuestion No : 94

Whizh af the charactarieancg 12 prasect in all ot ur far Axhibiting top elase pertormance?
i1 i 13y wnmapped emergy sourcea
3 nevds {dr sense of uehieverment

Options 1. 1

X2
3.3
4.4

Question Type

Status
Chosen Opticn

Question 10
Option 1 10
Option 2 10 :
Option 3 1D
Option & 1D
L Answered
V2

CMCQ

G154758277

61547532273
61547532274
61547532275
61547532276

Q.95

Comprehension:
Eewd the Quilow s preasrasde eavelully acid aus ser Uie guesiios il Jllew

Suecsss or fallure o the Deld often depends on miental factors as much as physicsl cnse.
sSports pevchalapiste vecopmize toe dramatic mupset of the arhlete's mindzes and focus oo
preparing the mind 2 evercome obetacies on the Seld wails hoceting contidence for optimal
perthrmancs, Lach and evers ons of ue has o untapped enersy soures that can he deawsn
woen fo being about superize sesultz, Lohanesny mosivasion 22 Bandamest sy abous s chanos
ul sbibade: developing o posibive wan do' mendsel wod comgaos i sy lemsiie bl oar
thae bl e prdeess wunds ol Decilolabe Lopeoscwent, T2 veu heve g leadersia i cole In
spors vouowill heve evpaiderable ioQucnee v bow moliviicd sour-athlcies ur beam mighi
fovl, You van jnst]l oogoud work pthie toeoknize adividual ool wed nstilute tevespamel
wesTd atvactured thas einfrove perpla’s sanme of aocomplishment. Te weoels Beet terhniques
meantined T the artidle need w0 ke molded armind specfic eiumiasances and the nesds of
the indtadual achlates Alwsys strive to ha avipinal and Snnow i the application of
mrivatienal teechniguas.,

SubQuestion No : 85

llerw eaxm the reeommended techroque work cxceptionally weoll for enhoncing sports
DH?J:-::JFI" ANCE n

il By Ealbowirge sechedule doewn '|:|_:.r crclies

% Tinwavering faith in the ahility of anach

5y Ly follawdng the sehedule and dies plan of top elass athletes

4 Moulded wevund @peeilie cieoaalsnes s wod Lhe neods of thee dividual aibele e

Options 1. 1

2.2
Fu3
4.4

Question 10

Option 3 1D
Option 4 1D
Status

Question Typs
6154758274
Option 1 10-:
Option 2 10
61547532263
: 61547532264
s Answered

MEQ

61547532261
61547532262

5305 2C
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Chozen Option @ 4

Comprehension:

Foud i wesside vnd woswer the queslissy siven beluow @

Simlisiies. huave s herorne mn inidispensible pest of pseearch an the Geld o Phy sical
Educamion and Spostz. There are varieus stshwetical techimigues of data anlaysie hles
mzasues of encral tendener, messurse of dizpeseion. measaves of melasienship sic Median
1z a tosasure of central tendensy and i i s widdle most scove in A distiibutics sach tRat hald
thes observailone fall shoee it and helt below it Iurther, medias Iz act affectsd b the
sxtreme valuss, W here Mean 28 5 walphted aversoe 1t 2z caloulated from all the scores in the
diztribvalion. Dear devinbon oo weesuse of dispordon aod i defiosd we s of (e
devieilion: (Iknerice digrsd Do averyse diveded by B pwwber of oms 0 Jwedesnbutis

Tha norral prebability distributan i= oneo® the moss comenly a=d feequently waed
comTinuems distributisn in physical sducation. Fecsuse all the human teaite like heighn
wairht, Wand presaire. amrencth. epesd o Fallows a nowmal distrimunion provided a large
2ampls 15 ohtained ina random manner. The noemal eomee 12 hilszers] symmetcal ennres in
zuch a wayr that = total arca leases) of o mormeal eurve 1z consedered to ko 100% taen hobrecn

1 Mrpme fo+1 Sepmua GEERY, U Siemns to +2 fiesia U 44 and 8 Higmaa to + 3 Higuos
LT of oz s feases) wiall e converod.

SubQuestion No : 96

QI6 1y gara of 1M suwects ic plotted oo NPT then how many cszss will be tound berond
11 Sigmz dn poerive dirsction)?

i 1LAT . arTd
05 GG o 541y
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question 1D 6154758283
Optien 1 1D : 61547532283
Option 2 |0 61547532294
Option 3 1D : 61547532295
Option 4 1D 61547532296
Status | Answered
Chosen Option © 2
Coamprehension:

Bead the passage ond answer the gacstians glven below s

Stulisiae: vy ouw boveme un wdispenable poot of sozeah i the feld of Pl cicol
Fducarion and Spoots. Thers are varions aratierical technigues of data  anlassis Tks
mzasiires of sentral remdemes messves of dispesaiom . measnves o7 relationship soe Bedtan
iz a megmre of entral tendeney and 1t ie 2 middle moat srove in 3 dizndhition such t=at half
the ahasrvatiome fAll showve it and helf belew it Forther, mediar iz nor affeacted Tor the
extremne valuse, Whete Mean 16 5 walshted averzoe 1t s caloulated from all the soores in the
diatribralion. Mear devanloun Bow wessuee of dispeecion and i delined we suw of the
devisldon: wuoriog sk Do averyse doveded By B pwinbes of foms o0 e deswcibative,

Thier: el F:l'!l‘t:-n]lﬂil._lf distribulam oo 08 The oest conmmonbs asd rl'\Hr{uJe—rll.l:\' el
e imunns disieibabiee o p]':_i'hil'ﬂ] sducalion. Breesuse all the Tansn Crsils Tike heid,
w1 1 Pt ﬁ-l'terlp:']l. KEH‘H] sl follows @ noraal dis et 1 pns:l'l'idr.c; “ ::nl';_u':-

Fineal I'.I2I1 CArse 'i[l
sucha war that =7 total avea (cases) oF 4 mormal eurve 1= voncidered to be 100% Then hanwesn
=1 Yrpme co+1 Sipme S8 2% U Siemas to + 2 Siema B3 44w and -3 Siema to + 3 Simwia
Wo 7L of are s dexges; will ke coverad.

sammipl=s = hisimed inoa csndom manner, The noml eoeee s Tila eeal =y

SubQuestion Mo : 97

a7
2 What iz the Median of the following se: of dats?

0.7,5,10,11.13
m (L) 9 (2 10
(3} 3.5 4y 8.5

Options 1. 1
2.2
33
4.4
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Question Type : MCQ
Question 10} 1 6154758281
Option 1 10 : 61547532285
Option 2 10 61547532286
Option 3 1D 61547532287
Option 4 {0 61547532268
Status © Answered
Chosen Option © 4

Q.98

Comprahansion:

Foud 2 s wnd woswcr Whe gueslidzy siven beluw o

a!-\fllb‘ il:# .!'!'n!".ﬂ' I .Il\.h: Carrre ir:“llihr}f&rl.ﬂ”lll‘! FI."-'1 '::-1‘ re'-'m-.lrt:‘l'! ark Ik“" [Iﬂ}l] ‘..l" F]I\ ’l‘l'ﬂll
Eduecarion and Sports. Thers ate vareus stsietical techniques of dats aulapsis lles
meastres of central tendener, messurss of dispeceion. measares of melstionship etc. Aledian
iz & measure of central tendency azd 1t 1 5 middle moet score in A dishuabutics sach that half
thes observailons fall shove itand helt below it Iurther, medias iz oot affectssi b the
catrome valucs, Whore Mean 23 0 wolphtod averoge 1013 anlmlated from all the scores in the
il eibeabire. Wlears devibom s o s of adigpeedion and i defined as sam of e
oy

Aeviabiones Gwnorieg siprs] Do avers e divided B Debmmnher of ismme im0 Thie dosi)

Tha normal probahility distriburan i= ane nf the moss commenly a=d feequentls waed
comrinuan: distributisn in phyeical sducation. Feesuse all the human traite like heighn
waight, Hand presaire. amrenorh. eperd fre. Fallows a nowmal dishmmunion peovidad a large
2ampls 15 ohtained in a randam manner. The nodmal eomve 12 hilazers] symmetieal enwe in
such aoway that 22 total avca lenses) of 3 mormal curve s considored to be 100% then hobroon

1 Sirme o +1 Spma GESEN, Y Sigma to + 2 fiema D544 and & Sigmma to + 3 Bisme
LT of aze s feases! will be conerod.

SubQuestion No : 98

In the tellowing ser of dara which methed of cenaral tendanney w11l ha moat sppropmate?

912,14, 16, 1645
(1 MesT 4y Madian
[E] Aode 12} Cronmetric Mean

Options 1. 1

2.2
3.3
4.4

Question Type | MCQ
Question 10 : 6154758280
Option 1 1D 61547532261
Option 2 |0 615475322682
Option 3 10 : 61547532283
Option 4 1D 61547532284
Status | Answered
Chosen Option ;1

0.99

Comprehension:

Tead e paseage snd answer the guestions plven helow @

bavs mow boeownc onolndispensible port of rozcarch an the Beld of Phyzcal
noard Aporlss There are virious slaostia] technmigoes o dala anbaysis Tke
i Median
bl hill
Phe aabgercatinnms Tall shasce il sared beadl Bl il Fucther, aaedian s nel oallee T he
=xbreine values, Where WTean s = weighied average il s caloubiled Troon all the seoess in the
distribation. Llean deviation 1= a messuze of diepersicn and 1= dedinsd az sum of the
deviatien: {(Ignorine signe; teom averare divded by toe number of e m che distribation

s e ol cendral bernleie reeasurss ol dispesinn measores 07 celsGonslip
ihaalicr

1= a msasurs ol cenbral lendenay amd 00 dsm maddls sl sooee o d

The neremal probubadity disteibuboon Boone ol he wes, eemomenly and eguently wsod
cumtiovou: disleibolise i plesical cdweation, Bumcade ol the wwan tewils hise heieh,
owl prossese, sioengile apeed vies follows o ooeemeal dislebuiion peovided o gy
sumnple w2 ublaioed i ropdom smoner, The svemel eceee 1 bilelere] svmoeteom] sueve 0
2uch aoway that 37 tefal area tnaseel of 8 rorenal corve s onma deved to e 1005 Fren batwesn
=1 Sqgmia oo 1] Sema SRS, =7 Signa ta | P Sigma B A and =5 Slzma i |5 Sigia
. TA% 0T aves (rasee; Wil he novered.

SubQuestion No : 99
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YWhat 1s the Mean deviation of the following data?
5.6, 9,10, 156

a 9 & 28
3 20 4 14

Fead e o sl amseer e guestiors given heliog ¢

SGtatleties have mow bomons an indizspenzible part of rezearsh m the Held of Phyzieal
Education wod Sposte, Thore e vuriows sliicitioal echogue: o dule wobu sls Lk
ez of senirw] ceodeney, messurss ol dapesaion, mewsuees of celuiionzhip e Mediun
b pne vy of seniend lende ey gl 10 B w saddle wesl seoee oo duabsibulion sach thal Jed?
b obsopvations Sl wboee Qb amd bl b it Further, medive b nol aflveted b the
catrewe vedues, Wheme Alvie bs wovweenghiod weeewee it o enloaduled Teom oll the seorgs i ke
distvibstion. Wear deviatian is a meane of dispersicn and is defined as mm of the
deviatians Agnaving signe) Poi avers ge divtded by the nimher of inems in che diamributine.

The normal probability dietribotzon e one of the meost commemby sod trequends used
coztimnens distributisn In phreical sducation. Deezaze all the humax traate like hedshbr,
wazhz Hood prosmove. stvength. spood oo Bellowrs o normal disterbution presnded a lavge
snmpls 15 obtained 1n A rondém manner, The woemal eoiee 13 bilefersl sromnctiieal e In
suchd wary Al 17 Ilal e Dussesd ol g snemalanree s comscdered Lo b 100550 B e befwes=n
=1 S b V] Bhpma BEA6%, =7 Hieme bo 0P Bigeia B0 44% andd =5 S o 18 Sigero
5. TR 0T ares mes) will b o red.

SubQuestion No : 100

Opfions 1. 1
22
3.3
4.4
Question Type | MCQ
Duestion 1D 6154758282
Option 1 1D 61547532289
Option 2 1D : 61547532290
Option 3 1D 61547532291
Option 4 10 . 61547532292
Status | Answered
Chosen Option 2
Coamprehension:

e I data of 10000 vases 13 plotted oo SPO. then howr many casca will be found betweoos
—1 Birma to —32 SipmaT i
{n 1G58 M 1848
il 27148 4, 2ET7
Options 1. 1
2.2
33
4.4
Question Type
Question 10
Option 1 1D
Option 2 1D
Optien 3 1D :
Optien 4 10 :
Status
Chosen Option

MCQ
61547582684

61547532297
- G15475332258

61547532299
61547532300

L Answered
it
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